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u Start here - Code:Blocks 20.03 - X
File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins DoxyBlocks Settings Help
FRBRALINRR|AR iG>0 B> EEE LG Y D[R
v e (MR REs[<|0Eido b
Y OMAEEEECos|/QQ[S C: AER S e > L ko x
tanagement X ||
Y Projects  Files FSymbc—IslIl ~
@ Workspace
-e
' Code::Blocks
The source, cross-platform IDE
A o ”
Belease 20,035 rev 11985 (2020-03-12 18:24:30) gcc &,1.0 Windows/unicode — 64 bit
- S O
I Create a new project % Cpen an existing project Tip of the Day
@] Visit the Code!'Blocks forums Report a bug or request a new feature
Recent projects
C¥tdvErojects ¥ AlgorthmWShorte stF ath Al ShortestPath Al Shorte stPathAllL chp
Di¥tdvErojects W Test¥ Test¥ Test chy
Recent files v
Logs & others x
* |7 Code:Blocks X (Y Search results X [#] Cccc X L¥suild log x # Build messages X [#| CppCheck/Vera++ X |#| CppCheck/Vera++ messages X |#| Cscope X LFDebugger X [# DoxyBlocks X [F] Fortran info 1]

Start here |:| default
13



Mew from template

Projects Category: | <All caf
Build targets
Files 2 <
Custom N
User templates AR_M AVR
Project
B3 ¢
D Dirg

application  pro

n-jj 9 =

Fortran DLL  For

appli

®
]

GTK+ Irrl
project pro
- L

TIP: Try right-clicking an item

1. Select a wizard type first on the le
2. Select a specific wizard from the n
3. Press Go

Console application

£ Console

Please select the folde
to be created as well a

Project title:

Folder to create projec
D:#MyProjectsiAlgor

Project filename:

Resulting filename:

<invalid path=

Console application

B Console

X

Please select the compiler to use and which configurations
you want enabled in your project.

Compiler:
GNU GCC Compiler v

Create "Debug" configuration: | Debug

"Debug” options
QOutput dir.: binWDebugi

Objects output dir.: | obj#Debugw

Create "Release” configuration: | Release

"Release” options
Qutput dir: binWReleaset

Objects output dir.: | obj#Releasew

< Back Finish Cancel

14




u *main.cpp [HelloWorld] - Code:Blocks 20.03 - X
File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins DoxyBlocks Settings Help
FoB0 ¢ ¥RR/QARE > 8 & B Db BIPECH AG Y N B|REED
: <global> vl ViesmEB RSy ~<|B@Aidop
L OMA=E=EEOCOC|QQ|S C v R X D R A= Build & Run: F9
tManagement X *main.cpp X *
! Projects | Files | FSymbols *! 1 #include <iostream>
@Workspace 2
= Helloworld 3 using namespace std;
=8 Sources a
~[" main.cpp 5 int main()
6 {
7 cout << "Hello world!" << endl;
8 return @;
9 ¥
10
1  #include <stdio.h> 'ES|
2
i 9 ol=a1irt E
3 | int main() St=ZE / W
4 |2{
. O T
5 printf("Hello world! \n"); AE=ZE \
6 retrun 6;
7
< >
Logs & others x
* |7 Code:Blocks X (Y Search results X [ Cccc X L¥suild log x # Build messages X [#] CppCheck/Vera++ X |[#| CppCheck/Vera++ messages X |#] Cscope X LFDebugger X [# DoxyBlocks X [F] Fortran info 1]
D:tMyProjectsAl gorithmi¥HelloWorl d#main.cpp C/C++ Windows (CR+LF)  WINDOWS-949 Line 10, Col 1, Pos 117 Insert Modified Read/Write default =

15



B Start here - Code:Blocks 20.03

File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins Dm_(yBIocks_I > Editor...
FEALIVNRRIAR I E> SO B> LEGCY £ 6w 1 B | EHE]

: Configure editor X[ B ro<| @ Qe o
& General settings
tanagemen
* Projects “ | Editor settings  Other editor settings  C/C++ Editor settings  Enceding settings
Work:
Q Worksy B Font —— -
This is sample text i ':l“ !
S [ Reset zoom of all editors to default, if leaving dialog TTE T T ==
General settings
g TAB options End-of-line opticns ol = == Aty 27|(5):
[] Detect indent style [] show end-of-line chars : .
’ N Consolas 2=
[JUse TAB character Strip trailing blanks =
[~ TAB indents End files with blank lins 2
- ‘ 4 TAB size in spaces: E - []Ensure consistent ECLs Constantia NEYE
End-of-line mode:  [CRLF ~ 04 | Cooper =4
Folding : _ COPPERPLATE GOTHIC A2 7| EYE
Indent cpticns Code Completion bel
[+] Aute indent Code completion ol Corbe )
| Srnart indent [] Case sensitive Core GothicE 6 v
Brace completion [ Autoselect single match - w7
Backspace unindents Autolaunch after typing # letters: E = or
. . . "
— 3 [ show indentation guides Documentation popup WE:E-Talis]
Margins and caret Brace Smart Indent — AaBbYylZz
[ selection brace completion ooltips: | enable - ==
ho
Selections A AT EIERY
. ‘ [ Enable virtual space (space beyond the end of ling) _' = :1 ==E&
[]Enable virtual space for rectangle selections |-1}=I = > | | =9
| (] allow multiple selections
ok liahti able typing (and deleting) i tiple selections simultanecusly
Syntax highlighting Enable typing (and deleting) in multiple selections simultanecusly op  n info 3
| LE == 54
% =rol e
! W
Start here default =

16



Build & Run: F9 HelloWorld¥bin#Debu gWHelloWorld.exe
Hello world!

Process returned O (0xQ0)  execution time @ 0,408 s
Press any key to continue.
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Online Judge ZE2E1 M H=& AH HE

2025. S/ SW-Al opFtE[o] 2] Al”A

Lol 11
- o " -~ |
LHHAE S * Sk ' i
1 e = X5 SEEDN| coi01 ojpwO01 e 8100 CiA A6~112
AjZH ~ :30~17: A A
, AMESS D X6 2155 . - |ZE 2025. 1. 20.~1. 24. 13:30~17:00 &k ICT2
FHE  CY0E AGE D2S Ofofisfl 7|25 FAAES o o UL,
o . . dAdAH
3 PSES RS ES=S-13m| =6 Fd= coi03 ojpw03 axt 20| A o R Bz
. CZ2IY J|%
| %~ o : : 2025.1.20. - X123, Bid Ata
4 SIS St a6 2 coi04 ojpw04 1330-1700 - 7% @lE2 mAo| Agy
- M4 2t X
=& = -0 = 2 c = 2UE Mo £
5 INRaE=1ami =2 20l coi05 ojpw05 2025. 1. 21. - if2, if..else2, if.else if. else2
13:30~17:00 - switch®
N ‘ _ - C}5 Z7! AND, OR
6 PSS-S -=Tgm] 52 EREd coi06 ojpw06 . 922 Holx
2025.1.22. - while 2, do..while2
» . ) 13:30~17:00 - for2
7 HEELdESW 2 PN coi07 ojpw07 - 34E w=e
2025, 1. 23, = HEH &

" . , o - IXHR B, CHRR RS, BHRio] 23] SWAP, B
8 NEsstn =2 SR coi08 ojpw08 13301700 _ sro) Motmt 23

nF2 VIE =2H HY

20 1 e e 2
9 gd85sn =2 O|CteH coi09 ojpw09 B3071700 _ epzato) Aapx i
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—_— = B HusTo) x  + v = O =
J-I'|- OEI X-|| E <« C {t @& ojdatahub.pekr/problem.php?id=1008 2 % @ & O o » = 0O ﬁ :
HUSTOJ 9 itFEgcsEg w:z EXEE  OMEIIE L9 # oz Language~  admin~
: —
e CodeBlock & IDEO|A] =23 =k
O A — ay o O - = 1008: [01 7| & & & 3] Hello world!
* I_I- o EI_I iEJ = E OJ O" =] E_ _C|>_ AZHE|SE 1,000 sec HI221H 3t - 128 MB s
X :I — ? £%1 HE1 &3 "EDIT  TESTDATA |
CHE ZD ol
=8 49
st 0] Hello world! 2He 2AHE S £56ts 22 2 HIstA2.
=~
AE d TF
 — o (ee)
.%%I | nggll-E _% == =%
- = e Hello world!
AT 0 | B=E: _ %
4 17L Ol =5 0lA| Copy
¢ 7?: -”-|' = Oﬂ E'I

OJ A8

U




« 7|2 O
1 #include <stdio.h>
2
2 »int main()
4 {
5 ITl printf("Hello world!
6 }

Hello World O A|

\nu).;

printf("Hello world! \n");

+ printf() &= Bx =28 A =2Hsl= 7|sS ot=

i
« Ol&=: "Hello world! \n" & printf 2= &0 MH

#tinclude <stdio.h>
- HE =9 =0 ot AEE 7K1 QU= stdio.h
— O

=
nes =42L.

2t
28| &
. Bk LY

21



Ce 2| X}= (data type)

A-I—
- JT%:J

e char ........

(2A1E) - <AE MY =2 FAtE NI

[jot

character

+ short EEEEREEE EERREEEE

short int

int EEEEEEEE EEEEEEEE EEEEEEEE EEEEEEEE

integer

- long EEEEEEEE EEEEEEEE EEEEEEEE EEEEEEEE

long integer

*longlong  HENENEEN ENEEEEEE EREREEEE RERREREE
64bit long [ HNNNNEE NENNEEEE ENENREEE EENEEEEE

22
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A
'jg_l_o,
(o)

44

oololo0loolo
oolofoololot
ololooolT
ool ool

(Ol:A o A
I, &1

)2| H? - signed

O A
=T

1111 1000 (-?)
0000 0111 2°|E =

24
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CAH 09| X} & (data type)

jgz'&zg 1 7 7 8 1
(X char Tbyte 8bit 27~ 27-1 (127) 0 ~ 28-1 (256)
short 2byte  16bit  -215 ~ 215-1 (=3.28h 0 ~ 216-1 (6.5
int dbyte  32bit  -231 ~ 2311 (5219) 0 ~ 232-1 (s429)
PSR
long dbyte  32bit  -231 ~ 2311 (5219) 0 ~ 232-1 (5429)
long long  8byte  64bit  -263 ~ 263-1 (59228) 0 ~ 264-1 (518444)
float dbyte  32bit 3.4x10738 ~ 3.4x1038
2Ty

double 8byte  64bit 1.7x10-308 ~ 1.7x10308

27



H=~ (variable)

« H=0| O|0O| #include <stdio.h> F& 8 (&) oIS
1001 20 age
. HSH= 2 gt oln
- TS Z|oioF & I ALE /) B3 MA(X7I3 218) 1003
N . . 1004
- 2§ MEE BU0 olge gl A | intees e —
— // o
- ZRIAHI} 0| E(H+H)S B e 1006
age = 20;
1007
1008
Hy MO(E7|=2t Q&
» 0| AR /e (Z712t 6ls) 1009 A Blood
N int height; 1010 3.14159 i
. MOIZ 3 FIRH AZ Jts L
. = OIAIX}Z ZtS sigt /7 B Aol SA0f 2 012
char blood = 'A";
o MO E=A StCt Jl= (X 7|8 ? N 1013
AR S0 e s (E71=h /) B4 HoT SA0l 8Y | o
e X7|3} BIX| Lo MY 7| % double pi = 3.14159; 1%
} 1016
1017

28



#include <stdio.h> " -IMTI?__ |'
MAZ X} =5 | AHE ERER
int main() { %C Chal 22X} char
int age; // B A %d 25 Qe 10T ¥ char,
age = 20; // B0 2€ %1 2z e 107 H, %det 23 short, int
int height, weight; %f, %1f 2z &= 107 A=+ float, double
char blood = 'A'; // o4t o %s =AtE char[]
double pi = 3.141592; %0 f2 gl= 8t =+
%u B3 ole 107 H char,
printf("age: %d \n", age); %X F2 gl= 167 A, AL ALE S?igf,
printf("height: %d \n", height); %X 52 gle 16 S5 WXt A8
printf("blood: %c \n", blood); %e e H7|HO| ofor A= float, double
printf("pi: %1f \n", pi); %11d, %1lu | £= U=, F=2 8= long long E= long long
printf("pi: %.21f \n", pi); %8 X Ol ek %f, %e = & ofLIE dH float, double
} %G 240l [H2tA %f, %G = & StLHE M EH
%% % 7|2 =%




printf

K OHR Qe MTE 2XPO MMM LA B2

#include <stdio.h my age. 20
include <stdio.h> my birthday: 2010/10/31
Good
int main() { morning

int age = 20; BN

int year = 2010, month = 10, day =

¢ )

printf("my age: %d\n", age);

printf("my birthday: %d/%d/%d\n", year, month, day);
% : decimal(10%)

prlntf("Good::morn1né:>everydaj:>"),

\n : new line

%d 2| 2|0
decimial(10%)
1022
=&ol2t= 9|0




1. 3= A

s #tdefine & AIE

Al (constant)

2. H=0| 1N

e const Z|¥HE AIE

##tinclude <stdio.h>
#tdefine PI 3.141592

int main() {
int r = 5;
double s;
// REY 187 BYHA QD
s = 3.141592%r*r;

/1 URE T2 AYYAQ
s = PI*r*r;
printf("%1lf\n", s);

##include <stdio.h>

int main() {
const double PI=3.141592;
int r = 5;
double s;
/) AR TS| AL
s = 3.141592*r*r;

/1 URH P87 2YHAE
s = PI*r*r;
printf("%1f\n", s);




A At Xt (operator)

H| 1

7|

TA ._Oﬁ

]

= CAHO|
oo |

il
M1

1l

K

LI K|
ZCt

—t

<4
g4
%0

CI2LCt

3ct

-l

K

—

<4
g4
100
o

And &&

2|

Or

J

|
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H L X operator)

ke
ALK LEZRO Uz U= LA} 2IZF0] U= H==0f Cf RoCt
0f)) num = 20;
T O|HLEREO| XS T oLt
0f)) num = 4+3;
25 O ALMKO| X0 RLEZE I|AHLK; 4S5 W}
o) num = 4-3;
= O|AHLMXS| 2f= &t
0f)) num = 4*3;
2 Zo| mALK} & RLEE O|AMK L= Lx &2 o0
o) num = 7/3;
21 Zo| O[AHLMK ¢S REF LAMKX ¢ =2 L LIHX|E FStCt,

O) num = 7%3;

Y
o%
L

T

ot
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AL X (operator)

« O QLbREeE ths QAR 25

#include <stdio.h>

int main() {

int nl =9, n2 = 2, res; B D:#MyProjectswalgorithmitbinwDeb
res = nl + n2;
printf("%d + %d = %d \n", nl, n2, res);
res = nl - n2;

printf("%d - %d

%d \n", nl, n2, res);

..
rd
=
-
..
ra
-

printf("%d * %d = %d \n", nl, n2, nl*n2);
printf("%d / %d = %d \n", nl, n2, nl/n2);
printf("%d %% %d = %d\n", nl, n2, nl%n2);

35



AL X (operator)

=<
= 54 LR
of ALK} HALO| O o|0O| ZotM #include <stdio.h>
. "o d" AI_-I =7 S %AI_I- . .
++a printf("%d", ++a) s/t, & < int main() {
a++ printf("%d", a++) | &1 AL =T FIt & int a=10;
4_ printf("%d\n", a++);
_ . ||o° n __ AI_-I 7I-_JI\_ S gtl.
b-- printf("%d", b--) | M M, =T LA <

B 1= DowMyProjectsitAlgorithm#STL TestwbinwDeb

10
12
b
12

Process returned O (0x0)
Press any key to continue.

int x=2, y=3;
printf("%d\n", (x++)*(y++));
printf("%d\n", (x*y));
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AL X (operator)

=
<
81
Joll —
=) |
10 — _
I
il — 4
7.._A|L(\+* +
Torooo e
|
01 ok ok | ok | o] ok | ok ok | ok | oF | oF | ok | ok | 0| ol-| oF
muq_qqqqqqqqqehhq
P RT | R | BT | R | BT | BT | R | RT| BT | R | R | R BT | R |
9
o
5 :
T . L J
=0 S .
Mlnhmc%_w}l__.&a|&”?*__
] B R A R @ i
._OOmu,,L_ ¥ +
- i I
H_O + +
' +
jol i
LU
|l
—_—r -
o i
— * fol e | mol o | e -
Al I % I
O_Ia_ux 1£NH4.HMEMMH
AI of | oo SN w4 A wl | wl | wl | A AT
._.AILHﬂur.ﬂ_nnﬂmﬂ___auﬂmmi_i_rrr
el [ B[R
ok m_ﬂﬂ | 5|
:E i B | Bl | El
L | a0 ol = rd [ ol | B
Ol_ =r| o o 5l B [ EF | 2
_.Aw_._” _ _
-t | ] (1] ] (1]
< | = il - - i
ofF
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A At Xt (operator)

< CIMKE @459 A% - CIAMR ZTHutst A%
#include <stdio.h> #include <stdio.h>
int main(void) { int main(void)
int a = 10+4*3-1; {
printf("%d \n", a); int r = 10-1-2-3+445;

printf("%d \n", r);
int b = 10+4*(3-1);

printf("%d \n", b); int a=3, b=4, c=5, d=6;
a=b=c-=d;
int r=4+5*6/(2+1)+15-5*2; printf("%d %d %d %»d", a,b,c,d);
printf("%d \n", r); }
) 21
18 13
19 bbb b
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scanf() &
» I HEERH Hf On:lEl"l% F|et
scanf 22| 2

B valoll xEst2t,

1

scanf( "%d" , &val);

l

10%l+ o= 22 YOt

10%l E=& o[ | SlLt A

X \ \
scanf("%d %d %d",

= 2 2OoLA

&a, &b, &c):

| 1‘[\

B4~ a, b, coll

XiEeict,

8% Y

#include <stdio.h>

oJofl M=

int main() {
int nl, n2;

printf("input nl1: ");
scanf("%d", &nl);
printf("input n2: ");

scanf("%d", &n2);
printf("%d + %d = %d\n",nl, n2, nl+n2);

printf("input two nums:\n");
scanf("%d %d", &nl, &n2);
printf("%d * %d = %d\n", nl, n2, nl*n2);

return 0;
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SIAl2. (x1<x2, yl<y2)

2
4
8

. Aol of
4
8

A

x1, y1)

o (X2, y2)

v

9| Ol
IEI

OJofl M=

##tinclude <stdio.h>

int main() {
int x1, yi;
int x2, y2;
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e switch®
® Ccase

 default
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¢ while &
e do..while
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e break &

e continue
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1

MO

mo Y

|0

input score:
Perfect!
You good!
Test passed.

input score:
You good!
Test passed.

100

60

#include <stdio.h>

int main() {
int score;
printf("input score: ");
scanf("%d", &score);

if(score == 100)
printf("Perfect!\n");

if(score >= 60) {
printf("You good!\n");
printf("Test passed.\n");
}

return 0;
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AL X (operator)

£ moMKte] B (AL}, ECH BS PTHE TR QAR
ctrue(=2|™ &, 1), false(=Z|™ HA, o) Hitzt
H ALK ALEO| Of ol0] Agtd

- a==b 29t b7t 227t >
1= al=b alt b7F &X| 27t >
< a<b a’ bEC} &27} >
> a>b a’t bELC} 27t >
<= a<=b a/t bELCr 2t AL Z&27} >
>= a>= a/t bELCr AAL &27} >
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A At Xt (operator)

« Hjl ALEKp(LEA HLERL)

#include <stdio.h>

int main() {
int a=6, b=2;

printf("%d==%d : %d\n", a, b, a==b);
printf("%d!=%d : %d\n", a, b, al=b);
printf("%d<%d : %d\n", a, b, a<b);
printf("%d>%d : %d\n", a, b, a>b);
printf("%d<=%d : %d\n", a, b, a<=b);
printf("%d>=%d : %d\n", a, b, a>=b);
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else —
=8 XS UtFol= 8% AE St
OFE=SIX| = 42 BE fdlic [l A=

qu% ol = :| I:||-0|. 607(—| O|M'O|
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S T2 IS XAMBHA|Q.

= "You
passed!’ & OtL|™ 'Failed. 'Retry it’ =

#include <stdio.h>

int main()

{

int score;
printf("input score: ");
scanf("%d", &score);
if(score >= 60)
printf("You passed!\n");
else {
printf("Failed.\n");
printf("Retry it.\n");
}

return 0;

47




u if ... elseif ... else &

o b % o

A oo o _|>
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O

[ 90 O|&fO[&E A
708 O|&O|E 'C

Y5l T2

I/

oJol| H=

#include <stdio.h>

int main() {
int score;
char grade;
printf("input score: ");
scanf("%d", &score);

if(score >= 90)

grade = 'A’;
else if(score >= 80)
grade = 'B’;
else if(score >= 70)
grade = 'C’;

else
grade = 'F';

printf("grade: %c\n", grade);
return 0;
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Vb= go |

= BMI A|At
- MEZX|F+== AtAle I =FA4A (kg)E 7|9
Xﬂa—(m)gi L= 4f L[ Ct.
« S2H (kgttE) 2t 9|( cmTHRHYE L
Of BMIZ A AMSIH A~ =W Aft2|7HX]|
=*=E4 }

* BMI #Iloﬂ =2 A0 S,
» 18.5 O|2FO|H X K| S
« 18.5~230(ZHO[H &'
* 23.0~25 0|20 H "I X| S

e 250 Ol)\|-|:| E_I — ||:|||:||--

oJof| X|&

#include <stdio.h>

int main() {
double w; // &FA
double h; // 7|
double bmi;

scanf("%1f", &w);
scanf("%1f", &h);
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eand, or, not=

'

*true(l), false(o) Htzt

X} (operator)

AL | cHAX} | AHLS| O o|0Oj a4
AND && a & b |true® true 2|H >
OR | | a || b |SILIE2tE true™ true 2|H >
NOT | I3 true™ falseZE, false™ true Z|H >
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EUE - if

« ZUl/H7] BF 60 O|&0[0{0F &4

#include <stdio.h>

int main() {
int pilgi, silgi;
printf("E7|2t 7| +E YH: );
scanf("%d %d", &pilgi, &silgi);

if(pilgi>=60 && silgi>=60)
printf("You passed!\n");

else {
printf("Failed.\n");
printf("Retry it.\n");

}

return 0;

= WI|/A7] & & SHLIEE 60 O|AO|H

St
=1

24
A

#include <stdio.h>

int main() {
int pilgi, silgi;
printf("E7|et 7| B+E YH: ");
scanf("%d %d", &pilgi, &silgi);

if(pilgi>=60 || silgi>=60)
printf("You passed!\n");

else {
printf("Failed.\n");
printf("Retry it.\n");

}

return 0;
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EUE - if

= 37 603 O|2tO| OfL|™H 2hA » 2707t 60HO|2HO| OfL{XY, H7|E 0™
0|gto] OfLI® B}
#include <stdio.h> #include <stdio.h>
int main() { int main(){
int score; int pilgi, silgi;
printf("input score: "); printf("E7| &7 H+E YH: ");
scanf("%d", &score); scanf("%d %d", &pilgi, &silgi);
if( !(score<60) ) if( !'(pilgi<60) && !(silgi<6@))
printf("You passed!\n"); printf("You passed!\n");
else else
printf("Failed.\n"); printf("Failed.\n");
return 0; return 0;
} }
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#include <stdio.h>

int main() {
int nl1, n2, res;
char op;
printf("0f: 10 + 5\n");
printf("ALt =4S LESIMR2\n");

scanf("%d %c %d", &nl, &op, &n2);

printf("%d %c %d = %d\n", nl, op, n2,

return 0;

res);
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52| g5 BEl

« 52 = EED

int ¢ = 0;
while(c < 5) {
printf("%d \n", c);

C++;

int ¢ = 1;
while(c <= 5) {
printf("%d \n", c);

C++;

A wWw N - O

o b W DN =
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EES = 21
#include <stdio.h> Rocket lunch countdown. .
int main() { 10

int num = 10; // 105 H A s
s

puts("Rocket lunch countdown.."); g
while(num > @) { // oELC} A™ c
printf("%2d \n", num); 1

num--; // 1% ZASHHA.. 3

} P
printf("last num:%2d \n", num); 1

}
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HFE2 3 - while

= 125 107X &=H ot/

1+2+3+4+5+6+7+8+9+10

sum | O 1 3 6 10 | 15 | 21 | 28 | 36 | 45

-+ / -+ 2! -+ P -+ -+ Yl -+ / -+ P -+ -+ P -+ Pl
+1 H1 +1 +1 +1 +1 +1 +1 +1 +1
B while(c < 11) while(c <= 10)
sum = 0 SUM = Sum + ¢ SUM = sum + ¢
c=1 c=c+ 1 c=c+ 1




o

#include <stdio.h>
int main() {
int sum=0, c=1;
while(c <= 10) {
sum=sum+c;

C++;
}
printf("%d \n", sum);
}
>
. 53
55

| STEP | sum | c

©W 00 N O U1 A W N =

—_—
= O
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110
55

ofL| @

##tinclude <stdio.h>

int main() {
int a, b;

return 0;
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3

=] while

¥
¥
« SO{2Y[E ALEot0] HE LHES| Al
A 25 F=9| ofX

* 90:00 5 E| ~ 05:59 7K| A|Z!

#tinclude <stdio.h>

int main() {
int hour=0;

puts(“clock time");
while(hour < 6) {

int min = 0;
while(min < 60) {

- min++;
}
printf("\n");
L hour++;
}
return 0;

printf("%02d:%02d "

, hour,

min);
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=& - for

» 52| g BE2

for(int i=0; i<5; i++) {
printf("%d\n", 1i);

for (i i
r(int i=1; i<=5; i++) {

printf("%d\n", i);
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Ht=E & - for

= 12 15A10| 39| Hi= =4 » 105 H 17HX| 712 ELCt2
#include <stdio.h> #include <stdio.h>
int main() { int main() {
for(int i=3; i<=15; i=i+3) puts("Rocket launch countdown..");
printf("%d", 1i); for(int i=10; i>=1; i--)
} printf("%d ", 1i);
}
=
3 » =5
6
9 Rocket launch countdown...
10987654321
12
15
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HIE 2 _ for 21} while £ H| 11

= for & = while &=
// 1% sTHX|e] &AE Fole Z2OH // 12H sX|e] A E Fole Z2OH
#include <stdio.h> #include <stdio.h>
int main() { int main() {
int sum = 0; int sum = ©;
int n; int n;
for( ; n<=5; n++) { 5
sum= sumT+ n; while(n<=5) {
printf("sum of 1 to %d: %2d \n", n, sum); sum - sum + n;
} printf("sum of 1 to %d: %2d \n", n, sum);
return 0; > N++;
} }
return 0,
}
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(Et, 1 <= n <= 100,000)

=
=9

« ©eF OfAl

#include <stdio.h>
int main() {
int n;

scanf("%d", &n);

int ans = 0;

printf("%d\n", ans);
return 9;
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of ot 1 2H 308X =
ST},

2) € M =0 CHStY == etrt.

1 L—

int main() {

for(int n=1; n<=30; n++) {

printf("%4d ", n);

¥

int main() {
for(int c=1; c<=10; c++) {
printf("[%d2t1\n", c);

for(int n=1; n<=30; n++) {
printf("%4d "

> N);

}
printf("\n");

}

3) Al 70 SHEAO| CHBHO] Z2Bhct,

L—
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#include <stdio.h>

int main() {

for(int d=1; d<=5; d++) { // 1EHEE sCHIEX
printf(" %d Th\n", d);
for(int x=1; x<=9; x++) { // x15E x97X|

printf("%d x %d = %2d \n", d, x, d*x);

}
printf("\n");

}

return 0;
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MO & - break

» break &

. switch, for, while, do ~ while29| g4

= WX LE27] 2[5 AHE

. TR JPhe 2EE HOjHt)

= AtE Of

e 1+243++n 9| 0| XS

A0l & [, 1 Ho| #3 nS Tt
2332 BB

o2 1000|

.LL

#include <stdio.h>

int main() {
int sum=0, n;

for(n=1; true; n++) {
sum = sum + n;
if(sum >= 100)
break;

}

printf("n: %d, sum: %d \n", n, sum);

return 0;
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41 prime

111 composite

AL
T

T

~N OO U A W NN =

=
=

I

#tinclude <stdio.h>

int main() {
int n;
scanf("%d", n);
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X2 - continue

= AtE Of

« 12 H 207HX|Q Mz =AM =20t
2 ZYSAR. (for, continue &

= AF8E A.)

##tinclude <stdio.h>

int main() {
int i;
for(i=1; i<=20; i++)
if(i%2==0)
continue;
printf("%3d ", 1i);
}

return 9;

{
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* Greatest Common Divisor, GCD Lowest Common Multiple, LCM
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- #include <stdio.h>
. _"—_X-” int main() {
T+ 7 a, b& ¥H 2Or HUEY 2|30 42 nt a, b;
A2 ZESls DROMS XHAY 3115 o1 scanf("%d %d", &a, &b);
4&|£2, 5 7 int d=2, G=1;
& =0, 121t 169 =S
= 40|C}.
30 42
6
» 1A

. while 20| X5t}

=
e do .. while 20| MTtsHI}?

printf("%d\n", G);
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conio.h

math.h

string.h

ctype.h

LHQ ol

7l
HE Q=4 2+ 5= H9
A Ol=xp] A EO
EIE = HEE—=I| %I'T o =
X o]

=A AAF O3 = g9

AL
=1

T

o

ot

AL
T

printf( ), scanf( ), gets( ), getchar(),
puts( ), putchar( ), fgetc( ), fgets( ), fputc(),
fputs( ), fopen( ), fclose() &

getch(), getche(), putch(), cgets() &

sin( ), cos(), tan('), exp( ), log( ), sqrt(),
abs( ), fabs( ), pow( ), fmod()

=
[S)

strlen,(), strcat( ), strcpy( ), strcmp( ),
strncat( ) S

isalpha( ), islower(), isupper( ), tolower(),
toupper() &
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[2hrof 2lEd] BE ([, e2.]) EEETERCITES
int  main () {
{ 2o =H|
=a1; }
_'?_78-2.
L > . . .
int add(int a, int b) {
int sum = a + b;
0 return sum;
I:Iél'n) Ol ’ ‘ St }
[return] [2|E 2k N/ ChAd bY
Sk o| 2| char Upper‘(char' Ch) {
S return ch-32;
X 5 )
4 B
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void func()
void func(void)

int func()
double func(void)

void func(int ar)
void func(char c)

int func(int ar)
int func(int a, int b)
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return;
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= Case2: 2 0, 2|H 0 = Ot A
« 7|5 x+y W= TOILE
ﬂim y me int add(int x, int y) {
e O .
2T o: add int sum = x + y;
« Ol=: x, y 274 return sum
x:int, y:int }

- 2|E4d: x+y

2|EHA: int




#include <stdio.h>

int add(int x, int y) {
int sum = X + y;
return sum;

int main() {
int a=5, b=4;
int sum=0;

sum = add(a, b);
printf("%d \n", sum);

A2 X} XMool st

 HE2Z20M ZOoLi= &

- NG & 2E Al 449 E2,
=g/t SEEH As2=2 nhifElC,
e =ha L
add sum 9

y > |
X 4 4
cop
e =ha w
main sum 9
b 5 | e
a 4 °
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#include <stdio.h>

int add(int a, int b) {
int sum = a + b;
return sum;

}
int pow(int x, int y) {
int r=1;
for(int i=1; i<=y; i++)
r = r*x;
return r;

char upper(char ch) {
return ch-32;

void output() {

printf("--------------- \n");
printf(" function %cest\n", upper('t')); //&T2=
printf("--------------- \n");

printf("2+3 = %d\n", add(2,3)); //&T=2=
printf("273 = %d\n", pow(2,3)); //ET==
return;

int main() {
output(); //ET=2=
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Debugglng S’rep into [shift]+F7

File Edit View Search Project Build Debug Fortran wxSmith Tools Tools+ Plugins DoxyBlocks Settings Help

FRRA@ I NE G QR|)® > 8 & 0 [bbiy VB> EEE LG Y DRI

§|<g|oba|> V||add(int a, int b) : int V” 4" @ h‘
K OMA=E=EE|OCC|Q QS C: VR A D v e > £ €5 »
tManagement X maincpp X maincpp X
{ Projects  Files FSyEI 2 | a
@ Workspace 3 |Hint add(int a, int b) {
Bﬂstart .| int sum = a + b;
=t DSOUTCES 5B || return sum;
P e [ main.cpp 6 L}
B ﬂ HelloWorld 7
e[ Sources 8 |Hint pow(int x, int y) {
9 int r=1;
10 for(int i=1; i<=y; i++)
11 r o= r¥*x;
12 return r;
13 |5}
14
15 |Elchar upper(char ch) {
16 return ch-32;
17 |1}
18
19 |Hvoid output() {
20 printf("--------------- \n");
= Functior 21 printf(" function ¥cest\n", upper('t'));
22 printf("--------------- \n");
a |2 23 printf("2+3 = %d\n", add(2,3));
b 3 24 printf("2~3 = %d\n", pow(2,3));
25 return;
=l Locals 26 !
sum | 5 —
28 Frlin't main() {
ch Mot availat 29 output(y: v
< >
a 2 int
Logs & others x
' [# Code:Blocks X Q& Search results X .Cccc X L¥Buildlog X ® Build messages X [#| CppCheck/Vera++ X [#| CppCheck/Vera++ messages X [#] Cscope X L¥Debugger x |7 DoxyBlocks X [F| Fortran info X ﬁm
it D: WM;ProjectsWhlzomtthHeI |oWor [dimain., c;; 23 ~
At D:#MyProjects¥dlgorithniHel loWor [d¥main. cpp:d
At D:#MyProjects#ilgorithmiHel loWor [d¥main.cpp:B
b
Command: V||h”x|
D:#MyProjects#Algorithmi#HelloWorldWmain.cpp C/C++ | Windows (CR+LF) WINDOWS-949  Line 5, Col 1, Pos 68 Insert Read/Write  default =



AL XL 82 g

#include <stdio.h> int add(int a, int b) {
int sum = a + b;
int add(int a, int b); return sum;
int pow(int x, int y); }
char upper(char ch);
void output() { int pow(int x, int y) {
printf("--------------- \n"); int r=1;
printf(" function %cest\n", upper('t')); for(int i=1; i<=y; i++)
printf("--------------- \n"); r = r*x;
printf("2+3 = %d\n", add(2,3)); return r;
printf("273 = %d\n", pow(2,3)); }
return;
} char upper(char ch) {
return ch-32;
int main() { } Logs & others
output(); ‘' |# Code:Blocks % ( Search results X [# Cece X ﬁEuild log
} File Line Message
D:#fMyFrojects. .. erraor: ‘upper’ was not declared in this scope
D:#MyProjects. .. note: suggested alternative: ' _popen’

D-ttMyProjects. ..
D-#MvProjects. ..
D:MvProjects. .,

error: ‘add’ was not declared in this scope
error: ‘pow’ was not declared in this scope
note: suggested alternative: “putw’

]
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#include <stdio.h>
// add®| sumX} mainl| sume S HO|QI

int add(int a, int b) {
int sum = a + b;

return sum;

int main(){
int sum=0;
add(1, 2);
printf("%d\n", sum);

S|

| -

o4

A A H

I__II_

T A

#include <stdio.h>

// add®| sumd} mainl| sum= &<

2 H
int sum;
void add(int a, int b) {

sum = a + b;

int main(){
add(1, 2);
printf("%d\n", sum);
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S| HHE S . et

« ex) HEZY ALt #include <stdio.h>
int factorial(int n) {

nl =nx (n-1) x (n-2) x .. x 1

5l =5 x4 x 3 x2x1=120

3 =3 x2x1=6

return r;

¥

int main() {
printf("6! = %d\n", factorial(6));
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X H gk
. K78 -
AW EF AV RRME 2E (A =2F8)
st B4
- ex) WEZ[H ALt
5l =5 x4 x 3 x2x1
51 = 5 x 4!
41 =4x3!
31=3x21
21=2x11
11=1
nxf(n-1) .. n22
f(n)
1 . h=1

EX0 7t ElBE /O

int factorial(int n)
if(n >= 2)
return n*factorial(n-1);

else
return 1;
}
// 3% 2 ALKGE 2E5H0
// Otefet &0 Bl 5%t =21t

int factorial(int n) {
return (n>=2)? n*factorial(n-1) : 1;
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factorial(5) @
Ny
h 8

Al AT Fet>,

L=DN;

Y
(5) * (28)< =

return n * factorial(n - ‘I}‘

« (6)s
L» return n * factorial(n - 1);
| 3) * (@
return n * factorial(n - ‘l}
L» return n * factumal(n —~ ‘1}
L» if (n ==

Ié"?/..é‘%- retur@

0
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#include <stdio.h>

} return 1; (3 ! —

int main() {

printf("%d", fact(5)); 1 20

} —

[5 x 41
int fizt(intzs){{ I-El }{ E} !
if(n >=
printf("[%d x %d!\n", n, n-1); ‘iE} W :E !
;:Enifz"f?;ZEZ%iii\n", n-1, f); [:EE }{ 1 !
return n*f; (.] ! :1 ) ]
ilse (2!:2) '|
b) |
A
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X 24

#include <stdio.h> b! = b = 5
int factorial(int n) { HI = §F % A4l
printf("%d! = ", n); A1 = 4 % 3l
if(n >= 2) { 31 = 3 % 21
printf("%d * %d!\n", n, n-1); 2| _ 2 * 1|
1n‘.c ans"°= r:*factor‘lalo(n—ll)l; | 1| _ re’[urned 1
printf( /od: returned %d\n", n, ans); 2| returnec 2
return ans;
) 3! returned b
lce 41 returned 24
printf("returned 1\n") ; ol returned 120
return 1; 6! returned /20
} b! = 720
int main() {
printf("6! = %d\n", factorial(6));
}
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int fibo(int n) {
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Ae=H 20| A2

o=t wy ag gy | T =1
@ @ 111 f(2) =2
D+@ W+@ | 1 f(3) =3
@ ® 1| 2 £(n) = F(n-2)+F(n-1)
D+ W@ | 1|
D+D+D, @+® @+@ | 2
D+D+@), @+@ @@ | 2 | |
D+@+@, D+D+D+D, @+D+®D G)+@ | 3
D+@+@, D+D+D+Q), @+D+® @ | 3|
D+D+@D+D, @+D+@, D+@+D+D, ... | @+D | 5
A @+@ | 5
e G+@ | 8 |
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#include <stdio.h> . %I-_/I\_E :H'_O._:I
int count(int stairs) { oE =9,

£(1) = 1

£(2) = 2

£(3) = £(2) + (1)
} £(4) = £(3) + f(2)

f(5) =

£(4) + £(3)

int main() {
int stairs;
scanf("%d", &stairs); f(n) = f(n-1) + f(n-2)
printf("%d\n", count(stairs));
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int kor[5];

kortH== 57§ Bt

kor[0] ~ kor[4]
Hig2l =

coHl QIARE Ao o)

orto] Jkort1 | koriz) | kori3) | oria]
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= [ 2 » X7|3}
kor[@] = 60; int a[5] = {3,2,7,6,9};
kor[1] = 60; int b[] = {3,6,5,4};
kor[2] = 60; int c[5] = {5,8,3};
kor[3] = 60; int d[5] = {4,};
kor[4] = 60; static int e[5];

« HE2 2 0|23} CfQ
for(i=0; i<5; i++)
kor[i] =
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« H{EO| =321

#include <stdio.h>

int main() {
int a[10]={1,3,7,6,4,8,9,12,2,10};

// @HEE A[XSL0] n-10{M EH0 &

for(int i=0; i<10; i++) {
printf("%4d", a[i]);

}

return 9;

" t“lea—— ffiilz

#include <stdio.h>

int main() {
int a[10]={1,3,7,6,4,8,9,12,2,10};
int i;
// @HEE A|ESIY n-100M EHO &
1i=0;
while(i<10) {
printf("%4d", a[i]);
i++;
}

return 9;
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« H{EO| ¢t = O & LK
#include <stdio.h> #include <stdio.h>
void main() { void main() {
int i, sum=0; int i, fibo[10]={1,1};

int a[10]={1,3,7,6,4,8,9,12,2,10};
for(i=2; i<10; i++) {

for(i=0; i<10; i++) { fibo[i]=fibo[i-1]+fibo[i-2];
sum = sum + a[i]; }
}
printf("sum = %d\n", sum); for(i=0; i<10; i++) {
} printf("%4d\n", fibo[i]);
}
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Before Swapping

After Swapping

HRE [

—

#include <stdio.h>

int main() {
int a=5, b=7;
printf("%d %d\n", a,

a=b;
b=a;

printf("%d %d\n", a,
return 9;

b);

b);

—-.] CT1
—_] —]




(C) w3resource.com

#include <stdio.h>

int main() {
int a=5, b=7;
printf("%d %d\n", a,

printf("%d %d\n", a,
return 0;

b);

b);

—-] T
T —




SWAP

12 P

#include <stdio.h>
int main() {
// C++2| Genericlt XXIE AR int a=5, b=7;

template <class T> printf("%d %d\n", a, b);
inline void SWAP(T& a, T& b)

{ SWAP(a, b);

T temp = a; A H| =}
= b; HEAE 2 printf("%d %d\n", a, b);
b = temp; Te2 HS return 0;
’ HO{LH= ’
} HE=Xolj=}=] }

KMot 282

—1 T
T —.
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STL sort() & AIE96}7]

= sort() 2 ALE
o C++2| STL AIE
 #include <algorithm> 28
- sort(HHEA|&E, HIEE, [H

- 7= 828 M2 LENE

» H| 1 —r(true o I swap =)

ok
BT

bool asc_order(int a, int b) {
return a < b;

}

// UHEX =&

bool desc _order(int a, int b) {
return a > b;

1)

#include <stdio.h>
#include <algorithm>
using namespace std;

void show_array(int a[], int len) {
for(int i=0; i<len; i++)
printf("%5d", a[i]);
printf("\n\n");
}

int main() {
int a[10] = {7, 5, 8, 1, 4, 9, 2, 10, 6, 3};
show_array(a, 10);

sort(a, a+10); /] LEX= HHE
show_array(a, 10);

sort(a, a+10, desc_order); // LHEX= HH
show_array(a, 10);
return 0;
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» 2t EAH L AS A

oSt EAHH| 22 H|

s AATLC

O8O,

#include <stdio.h>
#tdefine MAX 101

@

%_‘

¢

int isPrime[MAX] = {1, 1, 0, };

int main() {
int cnt=0;

23

31

for(int i=2; i<MAX; i++) {

¥

47 printf("%5d", 1i);

cnt++;

5

isPrime[j]=1;

X KRE KRR K

&

OO {0}

¢ 11 (3813 |34
17 | 3€| 19 (26 | 21| 22
2998|2298 | 20 | 3¢
3%|3¢3/3€ 37 3£
M 00143 44 45 46
R3¢ 5¢3¢ 53 | 3¢
57 58 59 20 61 82

iIsPrime[]| idx | © 1

}

}

©  w

val | 1 1 %)

}

if(isPrime[i]==0) { // @ Af{=TF &0

for(int j=i+i; j<MAX; j+=i) // Hi
/) A%o0tdoz

=
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oS EAH U A2 A

= A

A a, b ZH AO[O] EXStE 242
H=& 2Oti= Z20dH= AdoA 2.

=
5 XA all b7t SHeE FE2|&0 Y
ZICH, (1 < a, b < 500,000,000)

ze
a, b 7Zb ALO[Of| EMots 22| JiZE
E2sirt
o2t z2of of

g | saa
110 4

#include <stdio.h>
#define MAX 50000000
char isPrime[MAX+1] = {1, 1, O, };

int main() {

int a, b, cnt=0;
scanf("%d %d", &a, &b);

printf("%d", cnt);




Chxbel B

» KR H{EO| MA
152 HiE S o 7 8 =2 A
it o] WH JPLXE J4El HiY
Mo
GO Ef S HY Q[ £[Y 2]
Mot o
int a[4][5];
a[0][0] a[0][1] a[0][2] a[0][3] a[0](4]
a[1][0] a[1]{1] a[1](2] a[1](3] a[1]{4]
a[2][0] a[2][1] a[2][2] a[2][3] a[2][4]
a[3][0] a[3][1] a[3][2] a[3][3] a[3][4]

« 2At R HiEO| =7|=

int a[2][3] = {3, 2, 7, 6,9, 8};
3 2 7
6 9 8
int b[2][3] = {5,8,3,7};
5 8 3
7 M 7] M7
int c[2][3] = {4, };
4 0 0
0 0 0
int d[2][3] = { {3, }, {7.6,9} };
3 0 0
7 6 9
int e[][3] = {{3,2,6}, {769} };
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« 25 R HIE2| =2[(d #4)

Chxbel Bj

#include <stdio.h> 1 >l 3| 24
#define ROW 3 5| 6| 7
#define COL 4 9l 10! 111 12
int main() {
int a[ROW][COL] = {
{1J2)3J4}J{5)6)7)8}J{9)16J11J12} };
for(int r=0; r<ROW; r++) { /)l =3
for(int c=0; c<COL; c++) { //€ =2
printf("%4d", a[r][c]);
}
printf("\n");
}
return 0; 12 3 4
5 B 7 18
} 5 10 11 12

« 2AtE BIEO =2[(8 Fud)

#include <stdio.h> 1 > 3| 4
#define ROW 3 5| 6| 7
#tdefine COL 4 gl 10| 11| 12
int main() {
int a[ROW][COL] = {
{1,2,3,4},{5,6,7,8},{9,10,11,12} };
for(int c=0; c<COL; c++) { /18 =2
for(int r=0; r<ROW; r++) { //& =3
printf("%4d", a[r][c]);
}
printf("\n");
} T 5 3
return 9; 2 B 10
3 7 11
} 4 8 12
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#include <stdio.h> int main() {
input();
#define ROW 9
#define COL 9 int mr, mc, max=-1;

int a[ROW][COL];

void input() {
for(int r=0; r<ROW; r++)
for(int c=0; c<COL; c++)
scanf("%d", &a[r][c]);

printf("%d\n", max);
printf("%d %d\n", mr+l, mc+1);
return 0;
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Z23 oA LA SIS A A
#define N 100 /] B¥= FA| HeC o« ATl L)
#include <stdio.h> /] = FX| Y=L . 0(101) > 0(1)
void main(int) /] BEE FX| E=C. * 0(2N+1)->0(N)
{ L XIHHOX g2 B BA
int sum = 0; /2 3l 17
) o 2 2
int i; /) A % 13 O(N®+N) > O(N¥)
* O(N + logN) » O(N)
for(i=1; i<=N; i++) { // 2 == N+12 + 0(100 x 2V + 500N2) - 0(2M)
sum = sum + i; /] A =2l N
}
» QA ZE2 O] Big-0: O(N
printf("sum:%d\n",sum); // &2 == 13| O:" | = | 8 ( )
// 3 Bl 141 +N+1 + N+ 1 =2N+ 42
}
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"0(1)

AL

Ma=AlZt(constant time)
ol Far & 2glo] =H siZ&o

2ot ot A[Zto] 28

ot alatol o

=
gadE Of
- g0 g% e

« 29 FA ot

0| =

-

o (MA+OK[E=) x n / 2

QHIQ FR

" O(logN)

« E0A|ZH(logarithmic)

[ ]
A
o

B 0] S7t &0 e &2 Al

0| 21 &= doiZ= LiERY

« 4O|E 7} B

Ok

-
Of SO{LIE AHA[Z2

st £
LneE
2, log,10 = 3.x
A, log,100 = 6.X
A, log,1000= 9.x
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HlQ HI|o| B&

= O(N) = O(N logN)
« MAA|ZH(1inear time) « M 21 A|ZF(linearithmic time)
- HOJE &2o| S710 et Al AlZt - HOlE 2o S710f et Al Al
O &A} gt defj== LIELH O &X &+ + 2% HEQ| 1
. HO|E =720l MH|sto] AlsH Al ci T2 LERE
{I0| S75t= &F - HO[E Q] S7IEEC} dlAIZt0| O
- B7t: &2t E0e|E =0l S7t5t= §%
- S2[F O
. HUE|X| e HIYOA HoHZE A - EAE[F 0
- Y Y
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HlQ HI|o| B&

= O(N*%) = O(N3)
« O|XtAl AlZt(quadratic time) o MXHA AlZH(cubic time)
- OO|E &2 S7t0f el A Al - OOl Yo S7t0f mat 2 Al
O OJXt BH4s(N?) f=Z2 LiEpL O Ak} &4~ (N3) dejm =2 LpEpet
- HIOIH S7IE0| M&=22 H| Y5t - HIO|H S7t&r EH[H 5t 2l A
H2d AlZHO| 75t §% {t0| S7Iot= &%
- WIUL LI EE - Gt BXT €A2|E
- EEF 0 - EE|E O
- MEHYH - WEH 279 FADH Z4
- HEXHE
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HlQ ®7|9 SR

= 0(2M)

K|== AlZF(exponential time)
HOlE el S710f mat A AfZt
O] X|== &==(2N) dej== L}IEtE
HIOlE S7r2of met 2 A
X4 HEjZ S7bste 54
B7t: 2o L1ZF
12| O

2N TP SEZ A

o © o1 XM

* O(N))

S AlZt(factorial time)
OlF 29| S7t0f mef &2l Al
WEZ| A st (N1) D ZZ LIE
It AME
gag|E o
- HEREETZA BMZ ot QTR ZX
S 2
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HIQ F7|o| =2

« 2iEE g5

«0(1) > 0(ogN) > 0(N) > O(NlogN) > O(N?) > .. >002N) > 0(N")
[Forrote e i coos][ERETIenE

Big-O: functions ranking

BETTER
4 * 0(1) constant time
fé * O(logn) log time
"% * O(n) linear time
S * O(nlogn)  log linear time
* 0O(nY quadratic time
¥ * O(n?) cubic time
WORSE

* 0(27 exponential time

Elements
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N < 100

N < 500

N < 3,000

N < 5,000
N < 1,000,000
N < 10,000,000
N > 10,000,000

https://rh-tn.tistory.com/3

A ZHA|

NS 7|0 [E J

AN =EEE
O(N!)
O2N)
O(N%)
O(N3)

O(N2logN)
O(N?)
O(NlogN)
O(N)
O(logN), O(1)
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e AEHLE ChEF 120 193|9] AHAL
TAdOICte 7St 2F HE @0
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« AZF HotE2 CHEE 1~5%

- 213 [|O|E 7} seee’l O|stZ FO{ &
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5= 2ASHY ENHE 200 &

« 213 O|O|E 7} 257 0|82 FO{ RILCt
H oV €12|&T 0 S 7t
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(e r—] AL e
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DP (SEA=R)

(Dynamic Programming)



CrojLte} == 21U (DP)

» DP AIES}7|

OF
o

= &
O|2 =2 Cf

10 Et
o0 31
10

ol A
Of OfL|z2t otLtel &

D

10

™N

0{0

<

S

Tl

2 K0

]

w

jod KA

ol

K

{0

wal

<

<

[

1

= Kin

oh T

M

ﬁ Sl

Tl
_ 0o

=

ol

= =M 2K

o3

<
i

1) DP=

c

O

b

©

—~ 3

<r 2

of T

xl O

= c

_ﬂo
ulm += —
L= N D
of =" & D
= < & of
G X g F
B OH =
or Mg <O
= < H K
o B & N
N N S iIn

olJ |1

&I o3

ﬂ_,A_l

o3 qon

on =
iU 51 37

2= —_|-L_7E(Optimal Substructure)
Lo
2

J_.All
ol Nju

O =
Rr M= o
ﬂ _._._L _”__.._._7._.0

E‘X'”(Overlapping Subproblem)
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Cto|Lte] =2 32U (DP)

LELX] =2

1+1 2+3

142 3+5 21+34

= M rE S LELK =8 73

#tinclude <stdio.h>

int fibo(int x) {
if(x==1 || x==2)
return 1;

else
return fibo(x-1) + fibo(x-2);

int main() {
printf("%d", fibo(6));
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Cto|Lte] =2 32U (DP)
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/] MHESTE &
// 2F HAE
#tinclude <stdio.h>

o T LHA| £

int fibo(int x) {

if(x==1 || x==2)
return 1;
else

return fibo(x-1) + fibo(x-2);

int main() {
for(int n=1; n<=48; n++) {
printf("f(%2d)=%10d, ", n, fibo(n));
if(n%2==0) printf("\n");

f( 1= 1. f(2)= 1,
f( 3)= 2. f( 4)= 3.
f( 5)= 5. f(6)= 8.
f( 7)= 13, f( 8)= 21.
f( 9)= 34. f(10)= 55,
f(11)= 89. f(12)= 144,
f(13)= 233.  f(14)= 377.
f(15)= 610, 1(16)= 987 .
f(17)= 1597. f(18)= 2584,
£(19)= MB81. 1(20)= 6765,
£(21)= 10946, f(22)= 17711,
£(23)= 28657, f(24)= 46368 .
f(25)= 75025,  f(26)= 121393,
f(27)= 196418, f(28)= 317811,
£(29)= 514229,  {(30)= 832040,
f(31)= 1346269, (3= 2178309,
f(33)= 3524578, (34)= 5702887,
f(35)= 9227465, f(36)= 14930352.
f(37)= 24157817, f(38)= 39088169,
f(39)= 63245986, f(40)= 102334155,
f(41)= 165580141, f(42)= 267914296,
f(43)= 433494437, (44)= 701408733,
f(45)= 1134903170,  f(46)= 1836311903,

[f(47)=-1323752223, {(48)= 512559680, |

Process returned 0 (0x0)
Press any key to continue.

execution time

:144.476 s
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Cio|Ltal =2 322 (DP)
» DPE LO|ELIX| =€ 75 (XfHH)

#include <stdio.h> =2 A0}
/7 oHH AlLRoh ZarE B2 O|X0]d StH7| flet HHE
unsigned long long D[100];

£(6) £(5) f(4) £(3) £(2) f(1) f(2) £(3) f(4)

unsigned long long fibo(int x) { " §§E|E _f'_ikl
printf("f(%d) ", x);
if(x == 1 || x == 2) return 1;
// OlO] Aldtet X e EHEH A2 dhet
if(D[x] != @) return D[x];
// OFEl ALHSHA| =2 ZH2tEH At

D[x] = fibo(x-1) + fibo(x-2);
return D[Xx];

int main() {
printf("\n%11lu", fibo(6));
return 0; Vhna® i
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Clo|Ltal = 2 J2)2(DP)

= DP OISt KPS S =DP OF MA=E=
#include <stdio.h> #include <stdio.h>

unsigned long long D[100];
unsigned long long fibo(int x) {

if(x==1 || x==2) unsigned long long fibo(int x) {
return 1; if(x <= 2) return 1;
else
return fibo(x-1) + fibo(x-2); if(D[x] != @) return D[x];
}
D[x] = fibo(x-1) + fibo(x-2);
int main() { return D[x];
printf("%11lu", fibo(50)); }
}
int main() {
printf("%11u", fibo(50));
}
12586269025 12586265025
Process returned O (0x0)  execution time © 20.853 s Process returned 0 (0x0)  execution time @ 0.033 s
Fress any key to continue, Press any key fo continue.
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Clo|Ltal = 2 J2)2(DP)

» O 2LHA| =& pp ELHE 70

#include <stdio.h>
unsigned long long D[100];

unsigned long long fibo(int x) {
if(x==1 || x==2) return 1;

// 0|0 Attt A QoM JCHZ izt
if(D[x] '= @) return D[x];

// Ot A4LHohX| Gi2 ZHM2tEH A
D[x] = fibo(x-1) + fibo(x-2);
return D[x];

int main() {
printf("%11lu", fibo(50));

84 weo| o 27

// ot

TR $9 pp HHEY 7

—r
o

#include <stdio.h>
#define MAX 100
unsigned long long D[MAX+1];

void dp() {
D[1] = D[2] = 1;
for(int i=3; i<=MAX; i++)
D[i] = D[i-1] + D[i-2];

unsigned long long fibo(int x) {
return D[x];

int main() {

dp();
printf("%1lu", fibo(50));

}
/

0ot

Al HEEHO| O

o

OHM
rlo

/ & 72
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£0[: St 27|

. M| EH

QE L Hi b g A f(1) =1
) 1 1 f(2) = 2
D+@ 1 £(3) = 4
A
@ f(n) = f(n-3)+
O+ 1 F(n-2)+ f(n-1)
O+O+Q0, @+® 2 4
® 1
O+3 1
DO+D+Q, @+ 2 7
O+@+Q0, O+O+D+Q, @+D+Q, ®+@© | 4
D+D+3, @+ 2
A 4| 13
= 7
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£0|: ATt 27|

// =0 1: XF ==

/7 ATl =7t 330 HO{7HH HetAZh 1= WO o2 =7ts

#include <stdio.h>

int methods(int f) {
if(f == 1)
return 1;
else if(f == 2)
return 2;
else if(f == 3)
return 4;
else
return methods(f-3)+methods(f-2)+methods(f-1);

int main(void) {
int n;
scanf("%d", &n);
printf("%d", methods(n));
return 0;

#include <stdio.h>
#tdefine N 40
int memo[N];

int methods(int f) {

int main(void) {
int n;
scanf("%d", &n);
printf("%d", methods(n));
return 0;




= O

" =X - A
2xn 37|12 MAIZIAES 1x2, 2x1 EfY= AW =0 nO] = FICE (1 <=n<=1,000)

Nes wio] +8 ol Z21US it

"E A

AMSHA| 2. 1
N X-IMK ﬂonI)\ﬂogon
of2f 2&2 2x5 A7|0| HAIZHS K S =00 2 |§| ij Lfaiaﬂla
2 3} J}X| HiEo| ofo|Ct. _.C_DP;::'I__l = 10,007 = =d
(o]

EEEE

3 3

EEEE T

9 55
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E}

nO] 1 M, f(1)=17}X]|

nO| 2% [f, f(2)=27}X]|

nO| 3 [, £(3)=F(2)+F(1)
f(2) f(1)

nO| 4 [, f(4)=F(3)+f(2)
f(3) f(2)

ol
=

=
o

20| - TS

}

}

al
0042

##include <stdio.h>

int f(int x) {

if(x == 1)
return 1;

if(x == 2)
return 2;

return (f(x-1)+f(x-2))%10007;

int main() {

int n;
scanf("%d", &n);
printf("%d\n", f(n));

Process returned 0 (Ox0)  execution time @ 45,680 s
Fress any key to continue.
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= £0| - DP(StakA)

£l

» 20| - pp(AEAl)

}

#include <stdio.h>
int d[1001];

int f(int x) {

if(x == 1)
return 1;

if(x == 2)
return 2;

if(d[x] !'= @) return d[x];
return d[x] = (f(x-1)+f(x-2)) % 10007;

int main() {

int n;
scanf("%d", &n);
printf("%d\n", f(n));

Process returned 0 (0x0)  execution time @ 0,793 s

Fress any kev to continue.

#include <stdio.h>
#tdefine MAX 1000

int d[MAX+1];
int main() {
int n;

scanf("%d", &n);

d[1]
d[2]

1;
2;

for(int x=3; x<=MAX; X++)
d[x] = (d[x-1]+d[x-2]) % 10007;

printf("%d\n", d[n]);

Fress any key to continue.

Process returned 0 (0x))  execution time !

0.013 =




S

=9 " 2 EHU
2xn MAMZEE 1x2, 2x13} 2x2 EFYL R XMW Z0| nO| FO{ZTILCE,
NFe YRe =5 Hots Z20HS (1 <= n <= 1,000)
NPSEIYN
o=, - 37
o 54 © (® -
Obgf A3 2x17 HA4™E= M2 et KM S0 2xn 37|90 EALZEES %
Al OOl Lt Qe HHo| £E 10,0072 LHe LM
A& EH3iCt.
2 o
8 171
2 o
12 2731

* %ﬂ: baekjoon 161



El 3

nO| 1€ O, f(1)=17}4| = %o| _ XH:HOLA

##include <stdio.h>

int f(int
20| 29 T, £(2)=37}X] AR

return 1;
if(x == 2)
return 3;

ol 39 [ _
nO| 3¢ M, f(3) return (f(x-1) + 2*f(x-2))%10007;

}

int main() {

nol 4 O, f(a)= int n;

scanf("%d", &n);
printf("%d\n", f(n));

f3) f(2) f(2)




EfL & 1T

= £0| - DP(StakA!) = £0| - DP(&EA)

#tinclude <stdio.h> #include <stdio.h>

#tdefine MAX 1000
int d[1001];

int d[MAX+1];
int f(int x) {

if(x == 1) int main() {
return 1; int n;
if(x == 2) scanf("%d", &n);
return 3;
d[1] = 1;
if(d[x] !'= @) return d[x]; d[2] = 3;
return d[x] = (f(x-1)+2*f(x-2)) % 10007,
} for(int x=3; x<=MAX; X++)

d[x] = (d[x-1]+2*d[x-2]) % 10007;
int main() {
int n; printf("%d\n", d[n]);
scanf("%d", &n); }
printf("%d\n", f(n));
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=
HAES=1
. 25 - 3k
NZFX| E2209| }H 7} Q\C} 0] 3l ES NR| =0 M, NO| =0 ZILC},
st = O|ESIM HAEE MES (1 <= N <=100, 1 <=M <= 10,000)
OrS 240 SiCH Of [ 2+ 3= & 7|2 . — L
=L P L e = e 0|z 0| NIHO| BOj= 2t mo| JHK|7}
= AreE & USH, AST StH Sl T ZofZIch 3H|O| FHX|E 10,0002 Lt &
d2 X% =M O E A2 E2 8 7L} 22 Xpeiz o|ct
o2 LS
e - .53y
0|2 S0f 28, 38 EHlo| &7t US e e o
1, 1592 BHET| 39E 57K AFEdHE AW =0 872 XS =t
740| 74k & atto| st 7§4=0|Cf 2IHsT M 12 St
2= o 1 £ 0 1 2= o 2 £ 0 2
2 15 5 34 -1
2 3
3 5
7
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min(ag , a,+1, a;+1l, a;+1)
= min(min(min(ag , a,+1), as;+l), a;+1)
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7.| A=
— =
#include <stdio.h> // DP ECtE +3
#include <algorithm>
#define MAX 10000
#define INF 99999
int d[MAX+1];
int c[10]; // 2pfHEP ME HIE
int n, m;
int makeM(int x) {
if(d[x] != INF) return d[x];
int cnt = d[x]; // AS7HA YO 2

for(int i=0; i<n; i++) {
if(x-c[i] > @)
cnt = std::min(cnt, makeM(x-c[i])+1);
}
d[x] cnt;
return d[x];

int main() {
scanf("%d %d", &n, &m);
for(int i=0; i<n; i++)
scanf("%d", &c[i]);

dfe] = o;
for(int i=1; i<=MAX; i++)
d[1i]=INF;

int min_count = makeM(m);
if(min_count != INF)
printf("%d\n", min_count);
else
printf("-1\n", min_count);
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27F 2%, 3% 5% ol A2 EX| SffA

. X7\

0 1 p) 3 4 5 6 7 ”\|'F|E =7/ts otCh=

olO

0 INE |INF |INF |INF |INF |INF |INF |.. 02 072 OIS 4 oIr}
« 28 2|2 OtYj| Bt= = /=717

0 1 p) 3 4 5 6 7

0 INE |1 INE |2 INE |3 INF

=min(a,, a;+1) = min(INF, 0+1) =1
= min(as, a;+1) = min(INF, INF+1) = INF
=min(a,, a,+1) = min(INF, 1+1) =2
=min(as, as+1) = min(INF, INF+1) = INF
=min(ag, az+1) = min(INF, 2+1) =3
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ot

21723, 39, 5% 2 B =X ol &
2|2 27t2 ALBSHE B Blof| BHS 4 Qledh
0 1 2 3 4 5 6 7
0 INF 1 INF 2 INF 3 INF
0 T 2 3 4 7
0 INF 1 2 2

= min(as, a+t1) = min(INF, 0+1) =1
=min(a,, a;+1) = min(INF, 1+1) =2
=min(as, a,+1) = min(INF, 1+1) =2
=min(ag, as+1) = min(INF, 1+1) = 2
=min(a,, a;+1) = min(INF, 2+1) =3
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#include <stdio.h> // DP HFEZ 3
#include <algorithm>

#define MAX 10000

#tdefine INF 99999

int d[MAX+1]; // DP EH|O|=

int c[10]; // 2HH TR M HiE
int n, m;
void dp() {
d[e] = o;
for(int i=1; i<=MAX; i++)
d[i]=INF;

// ex. 2&0| CHSLO], 30| CHSHY, s&l0f CHSHA,
for(int i=0; i<n; i++) { // Z& MR a[i]of CHSHO],
for(int x=c[i]; x<=MAX; x++) { // x: =
if(d[x-c[i]] != INF)
d[x] = std::min(d[x], d[x-c[i]]+1);

int

}

int

howMany (int x) {
return d[x];

main() {

scanf("%d %d", &n, &m);

for(int i=0; i<n; i++)
scanf("%d", &c[i]);

dp();

int min_count = howMany(m);
if(min_count != INF)
printf("%d\n", min_count);
else
printf("-1\n", min_count);
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#include <stdio.h>

long long n;

long long solve() {
long long ans=0;

for(long long i=1; i<=n; i++) {
//n0| i2 LIF=0] ZBOX[H i= n2| fO|L}
if(n%i==0)
ans+=1i;
}

return ans;

}

int main() {
scanf("%11d", &n);
printf("%11d\n", solve());
return 0;

0| ol
e N —
- B}
+ 0| AAFAE= 18H nHX[Q ZE ¥
== BHOHY, B e = i7Fn
O| QFptH #|Sh= A O 2 XISHE|IC}
o [hEfA A LFER2 O(n)O|Cf
- O|H EX|= no %[SHZf0] 1000|222
Of FECZ= HF 2 AIZH0] ZE
Ct.
o MEfM BHMIHS HiASHOF & 2RIt
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if(n % i==0)
ans+=1i;

for(int i=2; i<n; i++) {

=
NS,
2) BN E {ot +==tA OI0|C| 2
E XY= nof CH3H0,
20| 4 nOBHe| XtHZ= T 71
no| A= n2E X =Lt
ex) 109| == ex) 162| ==
1,2,5, 10 1,2,4,8 16

ans+=1i;

for(int i=2; i<=n/2; i++) {
if(n % i=-0)
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ok AStb {100, 50, 20, 10}H T
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- S H HIH M8

#include <stdio.h>
long long int n;
long long int solve() {

long long int i, ans = 0;

return ans;

}

int main() {
scanf("%11ld", &n);
printf("%11ld\n", solve());
return 0;
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#include <stdio.h>

int main() {
int n;
scanf("%d", &n);
int a, cnt=0;
for(a=2; a<n; a++) {
if(n%a == 0) {

int b=n/a;
double r;
if(a > b) r=(double)a/(double)b;
else r=(double)b/(double)a;
if(r<=3) {
cnt++;
//printf("%.21f: %d %d\n", r, a, b);
}
}
}
if(cnt==0) printf("-1");
else printf("%d", cnt);

m—] AS
AHE
« 1A
- 2 ZN L2 EO0|F A8 HIHAE
AZtZ2DtE 10082 2 S5HA| XL},
- O H=A S L& LHE2?
. SlE
- I{E 40| 367 & [Of,
e 72 x ME XT
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3x124 1| {12x3 X 4
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#tinclude <stdio.h>

int main() {
int n;
scanf("%d", &n);

int a, cnt=0; i
for(a=2; a*a<n; a++) { i
if(n%a == 0) { i ?

int b=n/a;

double r;

if(a > b)
r=(double)a/(double)b;

else
r=(double)b/(double)a;
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#include <stdio.h>

bool is prime(int k) {
int cnt = 9;
for(int i=1; i<=k; i++)

if(k%i==0) // ko 20| A% cntE 7
cnt++;
2o|o| Xtz k7t AEtH ko s 11t
kBt ZEXEHCE (247} 27} )
if(cnt==2)
return true;
else

return false;

int main() {
int nth; // % EW|
scanf("%d", &nth);

int prime_cnt=0;
int n=2;
while(true) {

if(is_prime(n)) //20|H cntS7t

prime_cnt++;

// HAX St= HR O|H

if(prime_cnt
break;
N++;
}
printf("%d", n);

nth)
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bool is prime(int k) {
int cnt = 9;
for(int i=1; i<=k; i++) {
if(k%i==0) cnt++;
if(cnt > 2)
break;

}

return (cnt==2);

HiX| £ et =<tA™ OfO|LC|0] 2
Aolo| RtAH k7t &=l FZF [2, k-1]
A == EMSHA] =Lt

bool is prime(int k) {
for(int i=2; i<k; i++) {
//2~ k-1AIO| ==Xt2 Lt5+0f ZO|X[H,
/] =, A7t EXSHH
if(k%i==0)
return false;

}

return true;
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-] *} #include <stdio.h>
' bool is_prime(int k) { |
HF S I3 +8tx ofo|ciof 3 O rorline 12 ik )
; if(k%i==0)
kol F4E Tot7| QA= MpxEr| [ et fs
7'|A|'O|-E E|_|L__|- return true;
Y
bool is prime(int k) { int main() {
___________ . int nth;
fOP(lnt 1=2; . 2_nj3 1++) { scanf("%d", &nth);
if(k%i==0 )
int i t=0;
return false; 1:ti:;TLcn
} while(true) {

if(is_prime(n))
prime_cnt++;

} if(prime_cnt == nth)
break;

N++;

return true;

}
printf("%d\n\n", n);
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- L
AL 1L C —_—
. I‘_r_f—.': EO| (QJ) '%7|'
#include <stdio.h> . 3y O 7 J :
o(n) 2l At g 126 11 3 5]
A 153 162 [171
int main(void) { =T [ 2 5] %2 31% [2 43
: . L= . 26 1] [315 [324
?"E o = d48 iy 35 1] 141 4]
int cnt=0; — = 432 [441] [513
L] [4 3 7]
scanf("%d", &n); Of Z&E [E51] 612 [621]
for(int a=1; a<=n; a++) o AMZIS] Or=7| found 28
for(int b=1; b<=n; b++) B L
’ ’ 7t =7tsot 4
for(int c=1; c<=n; c++) { E_':? = =
if(a+b+c==n) { Ol =g

printf("[%d %d %d]\t", a, b, c);
cnt++;
// 570 =8 Mjoict = LWE
if(cnt%5 == @) puts("");

}

}
printf("\nfound %d\n", cnt);
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#include <stdio.h>
int n;
int solve() {
int cnt = 0;
scanf("%d", &n);

for(int a=1; a<=n; a++)
for(int b=a; b<=n; b++)
for(int c=b; c<=n; c++ )
if(a+b+c==n && a+b>cC)
cnt++;
return cnt;

int main() {
printf("%d\n", solve());
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1) HiXS 22 ==t5 OtO| K| 0] 1
=d ZO0[7t n? H7HS a b Z0|7t
HOHRIB B2 n-(a+b) AAOE T 2 ULt

for(int a=1; a<=n; a++)
for(int b=a; b<=n; b++) {

int c=n-(a+b); // a+b+c=n
if(b<=c && a+b>c) // a<b= 0|0
cnt++;

2 Oq

HERETEOM3) HA O(n?) 2 &

=Lt

2) HiNE et +=32tA OFO|C| 0] 2
=d 7t n@ MZHO Zt Ho ZO|E
QEKX+o=Z MEHSH ZUE a, b, c 2t &
0, Cte =4S Qt=3HCt
n n n
| <ce<|,1<a<|-]
3 2 3

for(int c=n/3; c<=n/2; c++)
for(int a=1; a<=n/3; a++) {
int b=n-(a+c);
if(a+b>c && (a<=b && b<=c))
cnt++;
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time_space_table:

/1030/sample.
/1030/testol.
/1030/test02.
/1030/testO3.
/1030/testo4.
/1030/testO5.
/1030/test06.
/1030/testo7.
/1030/test08.
/1030/test09.
/1030/testl0.

:AC
:AC
:AC
:AC
:AC
:AC
:AC
:AC
:AC
:AC

mem=0k
mem=0Kk
mem=0k
mem=0Kk
mem=0k
mem=0k
mem=0k
mem=0k
mem=0k
mem=0Kk
mem=0Kk

time=3ms
time=2ms
time=2ms
time=3ms
time=3ms
time=11ms
time=38ms
time=149ms
time=355ms
time=586ms
time=925ms

OF

) HiAES

-

=

ESC¥S

OtO[C| O] 2

time_space_table:

/1030/sample.
/1030/testOl.1
/1030/test02.1
/1030/test03.1
/1030/testo4.1
/1030/test05.1
/1030/test06.1
/1030/test07.1
/1030/test08.1
/1030/test09.1
/1030/test10.1

in
in
in
in
in
in
in
in
in
in
in

:AC
:AC
:AC
:AC
:AC
:AC
:AC
:AC
:AC
:AC
:AC

mem=0k
mem=0k
mem=0k
mem=0k
mem=0k
mem=0k
mem=0k
mem=0k
mem=0k
mem=0k
mem=0k

time=2ms
time=2ms
time=2ms
time=3ms
time=3ms
time=4ms
time=7ms
time=19ms
time=40ms
time=68ms
time=107ms
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#include <iostream>
#include <cmath>
using namespace std;

enum direction {
LEFT, RIGHT

}s

int main() {
int d;
scanf("%d", &d);

int n = pow(2, d)-1;
bool rooms[n];

for(int i=1; i<=n; i++)
scanf("%d", &rooms[i]);

Ol: 70| = OE| AS7}?

int pos=1;
int dir;
for(int i=0; i<d-1; i++) {
scanf("%d", &dir);
if(dir==LEFT) {
if(rooms[pos*2]) pos = pos*2;
else break;
}
else if(dir==RIGHT) {
if(rooms[pos*2+1]) pos = pos*2+1;
else break;

}
}
printf("%d\n", pos);
return 0;
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STL
(Standard Template Library)



STL

Standard Template Library

- .

2. Vector(Stack®| A2 = 2h

3. Queue
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vector Z1E| O] L

= vectorl| 54 « vector?| Ao
- A7|E HE F= A= =X ZHOH vector<Xt2%&> HH,
- O XtI2dE N% 7ts vector<At2&> HEH = { XT|4F };
. S 9IX|o] A0 WA Y2 IHs
. HIE|Of QA 7} Aol 1 APK| =l O k2t vector<int> vi; // intE Eh= HiIE
A=oz2 37| Z-HE vector<double> v2; //double= == HlE

« #include <vector> ZEQR

. 140 F b/
HEO| FZ E0A DAY, &K 7t
& ®: push_back(x)

=
AMA : push_pop();
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vector Z1E|0| L

#include <stdio.h>
#include <vector>
using namespace std;

int main() {

vector<int> v = {2, 4, 5}; 2lals // HE v M 8l X755}

v.push_back(6); 2045 // T OFX[EH0] 6 & &

v.pop_back(); 2[a]s] // T OORX[F A KA

v[1] = 3; 2[EN5 // 18 QIEIA0 3 &

printf("%d\n", v[2]); prints 5 // 2" QlEA JA =F

for(int x: v) printf("%d ", x); prints 2 3 3 // HEH =35IHM =

v.reserve(8); B // HEO 2PE 022 g7tez =
v.resize(5, 0); ARG // HEel 37| s2 ZHEStD 8l 37t 022 X F
printf("\n%d\n", v.capacity()); // BE7L XX[ol= S =5

printf("%d\n", v.size()); // HEel 37| =%
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vector Z1E|0| L

= vectorl| HAE

Member s re vector pop_back()
I end()

atposition)  ate] 9IX[0f Y= Zt 2| “
capacity() vectoro| 37| 2| & L2 3 4 5 ) 6 = pushbackh
clear() Vector?| B = Zf AlK| / gt
empty() VectorZ} H| S ™ true 2| El begin 260
pop_back() Vector®| OtX|8} ZF 2| H
push_back(value)  VectorQ| OFX|2H0y| g M &
reverse() Vectorl| 2= Zro| K| Bt
resize(n) Vectore| 37| =H
resize(n, value) Vector®| 37|, £7|3f =X
size() Vector®| £=9| 7} 2| H

swap(vector) VectorQ| L{E wzt
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vector Z1E|0| L

= 1K HEO| 3 " 2Kt BEO| 3
#include <stdio.h> #include <stdio.h>
#include <vector> #include <vector>
using namespace std; using namespace std;
int main() { int main() {
vector <int> v = { 6,2,9,7 }; vector<vector<int>> v =
// 1 { {3, 1}, {2, 1, 5}, {6} };
for(int i=0; i<v.size(); i++) {
printf("%d ", v[i]); for(int i=0; i<v.size(); i++) {
} for(int j : v[i])
puts(""); printf("%d ", j);
//EE2 puts("");
for(int 1 : v) { }
printf("%d ", i); }
}
}
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vector Z1E|0| L

«2xbel HE{O| 239t B

##include <stdio.h>
#include <vector>
#include <algorithm>

using namespace std;
int main(void) { // |v[O] v[1]

for (int 1 = 0; i < v.size(); i++) {
sort(v[i].begin(), v[i].end());
}

for (int 1 = 0; i < v.size(); i++) {
for (int j = 0; j < v[i].size(); j++) {
printf("%d ", v[i][j]);

}
printf("\n");
}
return 0;

v[2]

vector<vector<int>> v = { {3, 1}, {2, 1, 5}, {6, 4} };

*v[1][2]
*v[1][1]
*v[1][e]

B | D:#MyProjectsWTestWTestWbinWDebugWTest.exe

5

_b__l._l.
0 DD

Process returned O (OxQ)
Press any key to continue.

execution time

0 0.040 s
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queue

" Queue » MG AFE O
« CHEAQl FIFO(First In First Out) #include <stdio.h>
_—I_L_ch_ #include <queue>

using namespace std;

& e int main(void) {

Back Front queue<int> q;

Dequeue g.push(1); g.push(2);
Enqueue q.push(10); q.push(20);

while(!qg.empty()) {
« 7|2 QAE pr‘intf("°/d\n", g.front());

. ; A A7
* push, pop, empty, front, back g.pop(); // &= HA
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queue

* Queuel| =3

#include <stdio.h>
#include <queue> int main(void) {
using namespace std; queue<int> q;
// 72 g WE=E 2™ pop()dliOF 5t7| M0 // QO 12E 10At0] 2+E XLt
// =2|7t 27tSStEE2 Q2 AIEZ2 @0 HIHEC} for(int i=1; i<10; i+=2) {
void output Q(queue<int> Q) { g.push(i);
printf("Q:["); }
while(!Q.empty()) {
printf("%2d ", Q.front()); output_Q(q);
Q.pop(); }
}
printf("], ");
}
Q 1 3 5 7 9 q 1 3 5 / 9
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AL e

» Atz E 85 HOHE =X82

= LHEAZ HEIE 2[0|

Array & Limked List

Access A[k] in 0O(1l) time!

>

didddddddano

Access L[k] in O(n) time!

-

-

—

|

X

E
.
. EXHEA
LR
Sedarcin steps: @

57

I 1N I e Y 0 ) i 0 3 A 8

L O high

113 ] 5] 7 ufis)i7fiof2s]2o) s1)37) 1] 43]47] 53] 59
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Hif S

- 1178 HiE, A& Hi¥(vector)

2| AE

- HE2[2E, O|3HE, HAEAHE
AE

A EH

—

« ZUMZE(Last In First Out)

« MUAME (First In First Out)

* Double Ended Queue

x
ot
A

=

=

TOP

Bottom

&
Y
—
&
o

H

IIIIIII H

stack

—
ﬂ

NN\

&

queue deque
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Kd

750

X

J

ifl

Tz

ofLt 1ef

« E

Ol
o
=)
N
10

H

=

F

HO]

<H

=

-l

wad

10

0{0

—r

|

11

=

-l

wad

K]

750

a

1L

H(DFS, depth first search)

A
~h

=

atn 3l

™ (BFS, breadth first searh)

E
O

AL

ERTER
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= 42 (path)

= ¥ ™ (vertex)

t=

SES
O ad
St=0 A}

9|9

o]
[

« Ao|o] ™A™ sOf M

st

« T E (node)2t RE7|L

L
X

—r

L
—

1
(OLN

B
10
Nl
gl

ojnu
L[
P
K0

—r

1o

0{0

=
o
I

A

0|5 O, sOjA t2 Of

Bl

LA

X<
<H

9|

= 9|2 (cycle)

M &ele 88 soM €2

ir

. gy

HE &2
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(

multi edge)

H

M

. glojo] HEOIM C}2 HEoER ¢
=l 70| 47} 27H 04

o
32

+X - defj=

« A ZOol ki

¥yYoz o

7
=

» dejmol olof 3

Zt HEOML| X}

S

> oA

Ol M L=
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« Jgjmo| RtE 23

. OIXB|AE

(adjacency 1list)

Adjacency
Matrix

Adjacency
List

SH 2
. QI

(adjacency matrix)

1 —t>» 2 / 1 0 1 0 0 0
H} EH 2 » 4 / 2 0 0 0 1 0
« 7|EfEFRHE
3 —>» 1 —1»| 2 —»| 5 / 3 1 1 0 0 1
4 —t» B / 4 0 0 0 0 0
5 —t>» 2 —1 > 4 —>»| 6 / 5 0 1 0 1 0
6 — > / 6 0 0 0 0 0
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(Eh 1 <= n <= 10,000,000,000(1009}))

ml

Kl

=0{ nO| 100|2tH,

Ol =

109] &%= 1, 2,5 100|BE2 JS}10X}

=5 0
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213 0
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} 180]
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cte =0

#include <stdio.h>

long long n;

long long solve() {
long long ans=0;

for(long long i=1; i<=n; i++) {

//nO] iZ LIF0f EOX|H is no| f0|Ct

if(n%i==0)
ans+=1i;

}

return ans;

}

int main() {
scanf("%11d", &n);
printf("%11d\n", solve());
return 0;

9| &
= 7}

- O] 2A2FALE= 18H ntX|2 2& ¥
~52 S, BAM OjdQl = 7t n
O| Qb4 H X|&l= HiAlO = XIBHE|C}

o [I2LA] HAtZES O(n)O| L}

« Ol ZH|= no| Z[SHZ(0] 10040|E =2
Of o == HE B2 A[ZHO] A&
Ct.

o IEtM BHME G S HiASHOF & ER7t
UL,
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OE
=
- jIl%E{
1) Hi M| E @2t +=2t™ OfO|C| 0] 1

2= XA n0| CHSHY 1 0F n 2 2hat

n 2| 2k=0|LC}.

ex) 109] == ex) 162| ==

12,5 10 1.2, 4, 8 16

if(n % i==0)
ans+=1i;

for(int i=2; i<n; i++) {

=
NS,
2) BN E {ot +==tA OI0|C| 2
E XY= nof CH3H0,
20| 4 nOBHe| XtHZ= T 71
no| A= n2E X =Lt
ex) 109| == ex) 162| ==
1,2, 5, 10 1,2,4,8 16

ans+=1i;

for(int i=2; i<=n/2; i++) {
if(n % i=-0)
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OFA O] of
= 'I'—I =
ol X N
. __ll_jél' _I__I HHX'” —1 O
#include <stdio.h>
) HiAIE 918t 435 oto|cjof 3 7 Long long int n;
long long int solve() {
ex) 1@@9| OI:J\ o= —_|-|-o|-7| long long int i, ans = 0;

@1 ~v100=10 zmx| =A}
1, 2, 3, 4, 5,6, 7, 8 9, 10

@ o H'a {1, 2, 5, 10}22%H
return ans;

ok AStb {100, 50, 20, 10} T }
int main() {
® %4 orEB {1,2,5,10,20,50,100} scanf("%11d", &n);
printf("%11ld\n", solve());
return 0;
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H| M1 Z 0| HAN| EHA (DFS vs BFS)



BFS(L{H| 1B A)

ST) HHO| GAE I HSRE M

s O8N 7
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(BFS)
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» 12O &3
Ec|et 2| A== AO|Z20| =X
=dE2S 7Aoo ME=E

o
2
<
L

image source: https://www.cs.emory.edu/~cheung/Courses/253/Syllabus/Graph/bfs.html

e A4 (DFS)

« ZO|QMEH 2DB|F

IT

: go deep(before going wide)

def dfs(k):
1) 848 k& XNelotd EHEot A
2 HA|

2) 898 k& gdE 2= Fg0
O
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0| 1= (DFS)

@ dfs(0): n dfstH——dfs{0} (because node 0 is "visited"); dfs(1) —= dfs(7) = dfs(2) — dfs(3)

@ dfs(0) — dfs(1) n cfs(T——dfe(t); dfs(7) = dfs(2) n (3 —dfe(0); s —dfe(2); dfs(3) — dfs(4)

Ofilfo e 0 oG O (S

image source: https://www.cs.emory.edu/~cheung/Courses/253/Syllabus/Graph/bfs.html



(@)
Zo|eu
‘ EEA
o dfst——dfs(3); dfs(d) — dfs(8)

= return to dfs(3)

ElFAH

ﬂ

(DFS)

n dfs(2y——dfs{3); dfs(2) — dfs(5)

n dfef8)y—df={0} dfe{8)—dfefd} return to dfs(d) m return to dfs(2)

image source: https://www.cs.emory.edu/~cheung/Courses/253/Syllabus/Graph/bfs.html

n dfs{5r——dfs{2); dfs(5) — dfs(6)




0| 1= (DFS)

EFAH A
"o A-I
n dfs{6y——df={5); return to dfs(5)

m return to dfs(7)

m return to dfs(1)

m return to dfs(0)

DONE

m return to dfs(2)

image source: https://www.cs.emory.edu/~cheung/Courses/253/Syllabus/Graph/bfs.html



O] & &M (DFS)

vl
o
»vectorE QIEIZAEER ZE
= o 0|
8 10
O—am 2!
03
08
o 17
2 2 3
2 5
3 4
o 2 7
48
5 6

int n, m;
vector<vector<int>> G;
vector<bool> visited;

void input G() {
scanf("%d %d", &n, &m);
/7 BEO0| 0FH A|ASIEZ n+1
G.resize(n+l); // &7t=2
visited.assign(n+l, 9);

for(int i=0; i<m; i++) {
int a, b;
scanf("%d %d", &a, &b);
// FH HZEOIER asb, a<b
G[a].push_back(b);
G[b].push_back(a);

}

}

int main() {
input _G();
}

—
O

el

—

OO
CIJ‘-JO)Oﬁ-I‘—‘nCOI'\J—LC)%
O 01IMNNWOWO —
£~ N OO ~Ww —

visited[0]:
visited[1]:
visited[2]:
visited[3]:
visited[4]:
visited[5]:
visited[6]:
visited[7]:
visited[8]:

[ S—
—

&~ =~ QoM

OO OCOOOODOCOO
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def dfs(k):

1) A k2 MZlstn WEBH HOE HA
2) 8 k& g 2= FHEHO| OistH
Y23 5ol glon 1 HHAM dfs,

dfs 2= EI%0f97|(H—”|EE—”|)

dfset+7t S2 ™
2= ?IX = LOtM
E|Eo|.2|:|§ CCtS |

HHEEHO
1T— =

J.Ll_g_

int n, m;
vector<vector<int>> G;
vector<bool> visited;

/] 8 kO|A dfs

void dfs(int k) {

L e
/] 88 ks YEoIREzE =4

printf("dfs(%d) started.\n", k);
/1 LSO CHALX] & 7| ol HE=S

BAlStD

J

/7 88 ket AEE 2= EHEO TSt
for (int i=0; i<G[k].size(); i++) {
// keF HZE ifW FEO

[ |

_____________________

// dfs QFEOLT_I SOFACIT TA|X| =2
printf("return to dfs(%d).\n", k);

}

}
return; //PZE 2

I:II-':"c'>'|- M oo

' X
—

OO DODD
O~NOTRWN—=O O

visited]
visited]
visited]
visited]
visited|
visited]
visited]
visited|
HA— > visited

r|n
ox
o
(o
0F
Mo
il
e
i}

il
o
N

O—=0IMNNWOoOWOoO 0O
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ZO|SMEM (DFS) NN AAFE

https://algo.datahub.pe.kr/src/dfs full src quiz.cpp

#include <stdio.h>
#include <vector>
using namespace std;
int n, m;
vector<vector<int>> G;
vector<bool> visited;

void input_G() {
scanf("%d %d", &n, &m);
G.resize(n+l); // ©E0| oFH A/ASIEE n+1
visited.assign(n+l, 0);
for(int i=0; i<m; i++) {
int a, b;
scanf("%d %d", &a, &b);
G[a].push_back(b);
G[b].push_back(a);
}

}
void output _G() {

printf("\n");

for(int a=0; a<G.size(); a++) {
printf("%2d:", a);
for(int i : G[a])

printf("%3d", i);

printf("\n");

}

printf("\n");

/7 B kO dfs
void dfs(int k) {
/] 8 k& YEoI
printf("dfs(%d) started.\n",
// LSO AKX 7] 25 EE25 HEAISHLD

/7 88 k& dZE 2s ZFol tisho
for (int i=0; i< ;3 i++) |
/7 ‘88ke iR ™o Y=ot HOo| o™,
if ( ) A
/7 T BHEOUNM CHAl dfs A

// dfs 2t=ot0 SORRCHN HAIX] =
printf("return to dfs(%d).\n", k);
}
}

return;

}

int main() {
input_G();
output G();
dfs(0);

}

O~-NOOOT~WMN—-O
O—=0IMNYWOoOWoO —

return
return
dfs(5)
dfs(6)
return
return
return
return
return

B~ OO ~-W
B~~~ o

started.
started.
started.
started.
started.
started.
started.
to dfs(4).
to dfs(3).
to dfs(2).
started.
started.
to dfs(5).
to dfs(
to dfs(
to dfs(
to dfs(


https://algo.datahub.pe.kr/src/dfs_full_src_quiz.cpp

11 H| 2 M EHAH (BFS)

C HQME 2 DE)|E

Breadth First Search

1. 38 kE Xg|dtn 7o &Y,

HIESH 2492 HA|

2. 77t & M7HX| CE2 Bt
1) FOAM A B 2=

2) MHE =1 O| 25}

Ci5tod

® 1 3

7

@ 138

image source: https://www.cs.emory.edu/~cheung/Courses/253/Syllabus/Graph/bfs.html

. 48] £Mo| ofn]

» Visit alf the neighbors first:
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1.88 k8 NMelst 7o &Y, kE
HIESE Z{O 2 HA|

2. 77 & WX Ct
1) FOIM X HAY 2= AlK

2) AMH|El st2at 0|8t RE HH L H (@) *'I EFAH BF
cifsto] 2 eix| e Mol T o™
@ 1 88= Mot 7o & e _
@ Graph: @ 1 HEO| ©HHE2S HA = State after processing 0

» State after processing 3

qz@ 138

8724

= State after processing 1

= State after processing 8

«(1)[387 a(8) 724 |
2 .
O (s)
Xzl 0

X2[:01387
image source: https://www.cs.emory.edu/~cheung/Courses/253/Syllabus/Graph/bfs.html




@ State after processing 7

*@

24

@

= State after processing 2

@

45

X2:01387245

L H| 21 &AM (BFS)

= State after processing 4

a(4)| 5

= State after processing 5

ql@G

XM2l:013874256

image source: https://www.cs.emory.edu/~cheung/Courses/253/Syllabus/Graph/bfs.html

= State after processing 6

R

= DONE

(The queue has become empty)



E[EY!

e |

- L{H|QMEA 2Da|E
Breadth First Search
1. BE kS M2lstn 7ol MY, kE
HESE HOZ HA
2. 7t & M7HX| CtEs Bt=:
1) #OIM A R = A
2) AMAE =1 Olxot= E= EEY
Ciot =25HA| &= FEO|2}
@ 1 d8s Melstn 7o o
@ 1 880 HES H#HA

int n, m;
vector<vector<int>> G;
vector<bool> visited;

/7 88 KO bfs AlZE
void bfs(int k) {
queue<int> Q;

printf("bfs:

Q.push(k);
visited[k]=1;

(%d)\n", k);
// Al EEE QO

while(! > ) A // 70 WE= U
int cur=Q.front(); // 7 HER 2
Q.pop(); // B (APA

printf("%d deleted.\nbfs: ", cur);

HF
o0 -

// o AAet §8a 0fx
for(int i=0; i<G[cur].size(); i++) {
// EEeh HO| gleH

___________________________

————————————————————————————————

printf("\n");

/] B5 = 0|9 FH

z
o)

OOOOOODODD
ONOOTTRWN —=OQ

=
/1 AME SE ERCHD HA

ol 2= EHE0 Horg

[—
—
[—
—

A~ o OO O ~NW —

4 <

O—=01IMNNDWOCWO—-0O
£~ =l Co N
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L H|-2H &4 (BFS)

MK 2ARC

https://algo.datahub.pe.kr/src/bfs full src quiz.cpp

#include <iostream>
#include <vector>
#include <queue>
using namespace std;

int n, m;
vector<vector<int>> G;
vector<bool> visited;

// X Rl EE2 =Y
void output_Q(queue<int> Q) {
printf("Q:[");
while(!Q.empty()) {
int cur=Q.front();
printf("%3d", cur);
Q.pop();
¥
printf("], ");
}

1. 8™ k2 Nelstn 7o &Y, k2
BESH AOZ HA|

2. 77t & §7HX| ChE S dt

1) FOIAM A HRY 5 ALK

2) A E =1 0|

HMAEO| sty %2

YEo|2tH,
® 31 ¥™S Mgt Fof
AFO|

=]
SEHO YE2S #A

o

@

/7 Q8 koA bfs
void bfs(int k) {
queue<int> Q;

printf("bfs: (%d)\n", k);
Q.push(k); /1 ANE EEE ol &
visited[k]=1; G
while(!Q.empty()) {
output_Q(Q);

int cur= // el KER] A
Q. () // B (AR
printf("%d deleted.\nbfs: ", cur);

/7 AAeh S8 O|Rots 2 FEO CHSHO

for(int i=0; i< ; i++) {
/] Y&t HO| Qo™
if(lvisited[ 1 {
printf("(%d) ", G[cur][i]);
Q. push( )
visited[ 1=1;
}

}
printf("\n");

Ol
=
/7 AR S SEUCED B7A

void output G() {
printf("\n");
for(int a=@; a<=n; a++) {
printf("%2d:", a);
for(int i : G[a])
printf("%3d", i);
printf("\n");
¥
printf("\n");
¥

void input_G() {
scanf("%d %d", &n, &m);
// ‘880 eFH A|AHSIEZ n+1
G.resize(n+l);
visited.assign(n+l, 0);

for(int i=0; i<m; i++) {
int a, b;
scanf("%d %d", &a, &b);
G[a].push_back(b);
G[b].push_back(a);
}
}

int main() {
input_G();
output_G();
bfs(0);

}

0: 1 3 8

1: 0 7

2: 3 b 7

3: 0 2 4

4: 3 8

h: 2 6

6: 5

71 2

8: 0 4
bfs: (0)
Q:[ 0], O deleted.
bfs: (1) (3) (8)
Q:[ 1 3 8], 1 deleted.
bfs: (7)
Q:[ 3 8 7], 8 deleted.
bfs: (2) (4)
Q:[ 87 2 4], 8 delete
bfs:
Q:[ 7 2 4], 7 deleted.
bfs:
Q:[ 2 4], 2 deleted.
bfs: (5)

Q:[ 4 5], 4 deleted.
bfs:

Q:[ 5], 5 deleted.
bfs: (6)

Q:[ 6], 6 deleted.
bfs:


https://algo.datahub.pe.kr/src/bfs_full_src_quiz.cpp

0|2 = (BFS vs DFS)

https://seanperfecto.github.io/BFS-DFS-Pathfinder/

BFS/DFS Pathfinder (by Sean Perfecto) MAZE 1| MAZE 2| MAZE 3

Breadth-First Search

Depth-First Search
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02 B85 (=7[24)

#include <stdio.h>

#include <algorithm>
#include <queue>

#define MAX_INT Ox7fffffff
using namespace std;

typedef struct {
int a, b;
} vertex;

int n, m; // nH mE

int M[201][201]; // A= EE
int Sa, Sb; //=ZXA| a¥ b€
int Ga, Gb; //=EX a¥ b<Z

// Olae Wl ZFX| 2k Fof, ofzfet &0|
// Ofefl, RLEZE, &, AF =A== EM}
int da[] = {1, ©0,-1, @}; // Y (M=) 2
int db[] = {0, 1, ©,-1}; // S (7IZ)

bool safe(int a, int b) { // a&l b<
return (0<=a && a<n) && (@<=b && b<m);

void input() {
/1 (nd mB)
scanf("%d %d", &n, &m);
// 2X@ E[AEQl B FHHE
for(int a=0; a<n; a++) {
for(int b=0; b<m; b++) {
int c;
scanf("%d", &c);

Uzt @)

if(c==8) // =ZA 24
Sa=a, Sb=b;

else if(c==9) // SHX A7d
Ga=a, Gb=b;

if(c>=1)
M[a][b]=-1;

else
M[a][b]=0;

/7 SN oM FHAM HEIE =

void output(const char* title, int dist) {
/] M=Z=H
printf("\n[%s] (%d)\n", title, dist);

for(int a = 0; a < n; a++) {
for(int b = 0; b < m; b++) {
printf("%3d", M[a][b]);

}
printf("\n");
}
}
void dfs(int a, int b, int d) {
}
int main(void) {
input();
output("initial state",-1);
// dfs E= bfs StLEC| g0t =g A

dfs(Sa, Sb, 1); // sa?l sbZO0|A DFsA|E
//bfs(Sa, Sb, 1); //Sad SbBO[A BFSA|E}
output("last state", -1);

return 9;
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= DFS &1 2|E

def dfs(k):

= DFS T

NO = H
Of CHoHA

Ol M dfs,
of 27

()]
QU
-

()
oy

n 1

—~
Ul
-

~N
~

// a¥, bEO|N dfs, AXYIK] Abtet AHZ|= d
void dfs(int a, int b, int d) {
o L //@ ad b AHE| 7[F
2 HA| O|A Qi &?

(@)
//@ SHX|O| =ASHH YHEjel REAZ| =5

______________________________________________

______________________________________________
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i

|-
izt

O —- 22000
OO0 ——
_ kOO
OO0 2+00O
—_ O O
OO =200 20O
—_ 0 4 —

[initial state]
-1 0-1 0 O
-1 0-1 0 O
=1 =1 -1 -1 —1
0-1 0-1 O
-1-1 0-1 O
-1 0 0-1 O
0O 0 0-1-1

I ERENES

=

(0]

4

- off N

. 3l A Aol

oz E

F 2=

E
[DFS success] (13)
-1 0-1 0 0 0O O -1
-1 0-1 0 0-1-1-1
-1-1 1 2-1-1 0 -1
O0-1 0 3 0 0 0-1
-1-1 0 4 010 11 12
-1 0 0 56 0 9 013
O 0O 06 7 8 0-1
(-1) [last state] (-1)
0O 0 -1 5 0 3 0 0 0 016
=1 =1 4 0 2 0 017 16 15
-1 0 -1 3 2 1 21918 0 14
0 0 -1 O 3 0 3 0 0 013
=1 =1 =1 5 4 0 4 010 11 12
-1 0 -1 6 0 0 5 0 9 0 13
-1 0 -1 O 0 0 6 7 8 0-1
off 7 OfLIG|...
= = x>
HE|O10F St=0...

DFSE T3

= DFS 7%

// adY,

M[a][b]
/1@ Y&

=d;

bEO|A dfs, HAXYILX| ALt
void dfs(int a, int b, int d) {

/1O a¥ bEO| HE| 7|F
St Z{o2 HA| O|H Qe =l?

_|_

AHel= d

//@ SHEXO| =ASHH WHE I EAHE EF
if(a==Ga && b==Gb) {

output("DFS success", d);

return;

}

/13 AHL2=E dfs

// da, dbHiEZ2 O|83l forg2l 2 7tE3l 7ts

if(safe(a+1l, b) && M[a+1l][b]==-1) // |
d+1);

dfs(a+l, b,
&& M[a][b+1]==-1) // -

if(safe(a, b+l)
dfs(a, b+1l, d+1);

if(safe(a-1, b)
dfs(a-1, b,

if(safe(a, b-1)
dfs(a, b-1,

&& M[a-1][b]==-1) // *
d+1);
&& M[a][b-1
d+1);

==-1) // «
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« O™ BT

// a¥, bBOM dfs, MK Abtet HEl= d
void dfs(int a, int b, int d) {

M[a][b] = d; //@ ad b0 AHZl 7[=
//@ YRS Hoz HA| 0| otz =»?
/@ SEX O SxstE WAEe e £
if(a==Ga && b==Gb) {

output("DFS success", d);

return;

}

//Q A OZ dfs
// da, dbH{ES O|E23l0 for2l =2 I3l Jts

if(safe(a+l, b) & & M[a+l][b]==-1) // |
dfs(a+l, b, d+1);
if(safe(a, b+1l) && M[a][b+1l]==-1) // =~
dfs(a, b+1l, d+1);
if(safe(a-1, b) & M[a-1][b]==-1) // * | ——
dfs(a-1, b, d+1);
if(safe(a, b-1) && M[a][b-1]==-1) // <«
dfs(a, b-1, d+1);

o o O 1 I::lH E%g(al-ﬁé} ﬁzj

AN
©

. 2 |Iﬂ

// Ols& 4l ZFX| "igk Fof, ofejel &0
// Ofell, REZE, #I%F, &EF =ME BM
int da[] = {1, 0,-1, 0}; // (M=)
int db[] = {0, 1, 0,-1}; // S (7I=)

O OF OF =
o 08 X 1
o 19

// a¥, bEOIA dfs, AFXIK| Adtet AHEZ|= d
void dfs(int a, int b, int d) {
M[a][b] = d;
if(a==Ga && b==Gb) {
output("DFS success", d);
return;

}

//® 44T = dfs
— for(int i=0; i<4; i++) {
int na = a+da[i], nb = b+db[i];
if(safe(na, nb) & M[na][nb]==-1) {
dfs(na, nb, d+1);

}
-}
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DIE El= _ BFSE2 -_rl--él-_=| /7 bfs(AA&a, Alds, Azld)

void bfs(int sa, int sb, int d) {

________________________

oFr—a|l= L 2 /7 NERIKO AE a'rA|, EEHEAl Qe
" BFS E‘I_E'l = queue<vertex> q;
-+ [TTTTTTTTTTy T > X
1.8 k=2 M2stn Fof A, k= B R - PR
HE & IT
tEot Ao 2 HA while(lq.empty()) { // 77k & W] s
=1 oo WyWtk. // -ﬁLOI AN oeRf 38 aH
1) FOIM A I &= A // ROIM & i g2 A
AtHIE] SEE T 235l= = X
) HAAE B Ol wote 2= S0 /7 SM KON avtx| watozol 91X ol
I:HOl'O:I O_I_'_Ol-xl LS = OI:IO|E'|-E) -FOP(:I_'[']_-t__}__?__e_‘_‘__%_f__zl" i++) {
D1 HHES MR Fo A T e next
— l ’ .+ // nb: next b
MM =2 Al !
@1 330 F== B if (safe(na, nb) & M[na][nb] == -1) {
x O A} R I R 7/ = s =3 PN 7 (=1 = 9N
" =708 JH i EHR O SR T saen 9B
-1 06-1 06 0 0 0 -1 i
Sa, Sb = (2, 2) | |
Ga, Gb = (5, 7) -1 -1 06 0 -1 -1 -1 i ?
-1 -1 -1-1-1-1 0 -1 L
-1 0-1 0 @0 0 -1 r_ /1 Hs RIAHE R AR
-1 -1 0 -1 0 -1 -1 -1 } }
-1 6 0 -1 0 -1 0 -1 }
© 9 © -1 -1 -1 © -1 output("BFS search fail", -1); // O{7[7tX] @& EA HIie




Oz &

=3
E

/] bfs(AlEda, AZEb, #2ld)

void bfs(int sa, int sb, int d) {
M[sa][sb] = d; /7 MNERIXO HE2| dEA|
queue<vertex> (q;
q.push({sa, sb}); // 7Ol & /X &€

while(lq.empty()) { // 70 2 Oj7px| gre

int a = q.front().a; // 72 A HHHf §H oA
int b = q.front().b; // 72 A HHHf §E bZ
q.pop(); // TOIM R OB 2= A

/7 S KON a7kX] EeFo 2o (K| =¢
for(int i=0; i<4; i++) {

int na=a+da[i]; // na: next a

int nb=b+db[i]; // nb: next b

if (safe(na, nb) && M[na][nb] == -1) {
UKo AH2[ FEA

==
=

M[na][nb] = M[a][b] + 1; // Ci=

/7 =SHX0 =EotH 98 ==otn E

if(na==Ga && nb==Gb) {

output("BFS search success", M[na][nb]);

return;
}
g.push({na, nb}); // LCt=
}
}
}
output("BFS search fail", -1); // Oi7|7tX| @H

AXE ROl MY

https://algo.datahub.pe.kr/src/maze/bfs/1.%20maze bfs func.cpp

BFSE 113

A4 =el

78 [BFS search success] (11)
10100001 5 03 0 0 0O 0 8
10100111 4 0 2 0 0 5 6 7
11811101 3 2 1 2 3 4 0 8
01010001 O 83 0 83 0 0 0 9
11010111 5 4 0 4 010 11 10
100101089 6 0 0 5 0 9 0 11
00011101 O 0 0 6 7 8 0 -1
[initial state] (-1) [last state] (-1)

-1 0-1 0 0 O O -1 5 0 3 0 0 0 0 8
-1 0-1 0 0-1-1-1 4 0 2 0 0 5 6 7
-1-1-1-1-1-1 0 -1 3 2 1 2 3 4 0 8
0O0-1 0-1 0 O O -1 0O 3 0 3 0 0 0 9
S R B O R B 5 4 0 4 010 11 10
-1 0 0-1 0-1 0 -1 6 0 0 5 0 9 0 11
O 0 0-1-1-1 0 -1 O 0 06 7 8 0 -1
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[BFS searched new distance] [BFS searched new distance]

-1 0-1 0 0 0O O -1 5 0 3 0 0 0 O-1

-1 0-1 0 0 -1-1-1 4 0 2 0 0 5-1-1

ElZE _—I_|_'¢'5 -1-1 1-1-1-1 0 -1 3 2123 4 0-1

I:IIE EE'BFSE |_:I 0-1 0-1 0 0 0 -1 0 30300 0-1

-1-1 0-1 0-1-1 -1 5 4 0 4 0-1-1-1

-1 0 0-1 0-1 0 -1 -1 0 05 0-1 0 -1

E o L O 0 0-1-1-1 0 -1 O 0 0-1-1-1 0 -1

« BP0 NS HO0F= YHOIE

[BFS searched new distance] [BFS searched new distance]

. -1 0-1 0 0 O 0O -1 5 0 3 0 0 0 0 -1

int new_d = M[a][b] + 1; // AHE—E— 7‘|E| 75”A|_|' _1 2 1 2 _1 _1 0 _1 3 2 1 2 3 4 0 _1

0-1 0-1 0 0 0 -1 O 3 0 3 0 0 0-1

/] MEH AAE AHZ|7F X2 2|0 ZO{X|H, -1 -1 0-1 0-1-1-1 5 4 0 4 0-1-1-1

if(new d > d) { // &K TAE| Uct =Sta -1 0 0 :1 _0 :1 0 :1 6 0 0 5 _O :1 0 :1

output("BFS searched new distance", -1); 000 0-1-1-1 0 L e
d = new_d; [BFS searched new distance] [BFS searched new distance]

} -1 0 3 0 0 0 0 -1 5 0 3 0 0 0 0 -1

/] 2XX| 0 EEI--LFE Jgg xa }—l SES 3 2 1 2 383-1 0-1 3 2 1 2 3 4 0-1

o 0 30300 0-1 0 3 03 00 0-1

if(na==Ga && nb==Gb) { “1-1 0-1 0-1-1-1 5 4 0 4 0-1-1-1

output("BFS search success", M[na][nb]); -1 0 0-1 0-1 0O -1 6 0 0 5 0-1 0 -1

return; O 0 0-1-1-1 0 -1 0O 006 7-1 0-1

} , .

a-push({na, nb}); // TS $IHIE 70| 42 258 eanaied] ) (U eoll g 1aRs Eeinl 7 cLEeEl

} 40 20 0-1-1-1 4020056 7

3 2 1 2 3 4 0-1 3 2 1 2 3 4 0 8

O 3 0 83 0 0 0-1 0O 3 03 0 0 0-1

-1 4 0 4 0-1-1-1 5 4 0 4 0-1-1-1

-1 0 0-1 0-1 0 -1 6 0 05 0-1 0-1

https://algo.datahub.pe.kr/src/maze/bfs/2.%20maze bfs show process.cpp 00 0-1-1-1 0 -1 0 00 6 7 8 0-1



https://algo.datahub.pe.kr/src/maze/bfs/2.%20maze_bfs_show_process.cpp

02 E= DFS + BFS MK AAFLC

//written by akapo@naver.com // ST oM B MEE =™
#include <stdio.h> void output(const char* title, int dist) { int min_dist=MAX_INT;
#include <algorithm> if(dist > @) // ad, bOA dfs, THXHIIX| ALt AH2l= d
#tinclude <queue> printf("\n[%s] (%d)\n", title, dist); void dfs(int a, int b, int d) {
#tdefine MAX_INT Ox7fffffff else M[a][b] = d;
using namespace std; printf("\n[%s]\n", title);
// SEXO| =HEH,
typedef struct { for(int a=0; a<n; a++) { if(a==Ga && b==Gb) {
int a, b; for(int b = 9; b < m; b++) { if(min_dist > d)
} vertex; printf("%3d", M[a][b]); min_dist=d;
} output("DFS search success", d);
int n, m; printf("\n"); return;
int M[201][201]; // XIE HE } }
int Sa, Sb; //E%UX| a¥ b€ }
int Ga, Gb; //=HX| a¥ b€ // bfs(AEHa, AlZb, AH2|d) int noway=e; // @A ?IA[0|M Ol =7hs &
void bfs(int sa, int sb, int d) { for(int i=0; i<4; i++) {
// Ol8& U ZtX| "z go|, otzfet 0] Mo™ M[sa][sb] = d; int na = a+da[i];
// otel, RLER, T, F =AE EAMSHA &H. queue<vertex> q; int nb = b+db[i];
int da[] = {1, o,-1, o}; // & &t q.push({sa, sb});
Int db[] = {0, 1, 0,-1}; // & && if(safe(na, nb) & M[na][nb]==-1) {
while(!q.empty()) { // 77F & W7 Bt=547] dfs(na, nb, d+1);
bool safe(int a, int b) { // a¥ b int a = gq.front().a; M[na][nb]=-1; // HHE:=S A Z=2l
return (0<=a && a<n) && (0<=b && b<m); int b = q.front().b; }
} a.pop(); else
noway++; // Ol&=27t 7t2H 7t
void input() { /1 M RIK|O|M 47kX] Wk 2o QK| =0l
// N, M2 g J|Zoz2 PRSI0 24 27| (nd nd) for(int i=0; i<4; i++) { if(noway==4) // 42}sF & Z0| 950
scanf("%d %d", &n, &m); int na=a+da[i]; // na: next a output("DFS search fail", -1);
// 2K B[AEQol B FHE YH HHY| int nb=b+db[i]; // nb: next b }
for(int a=0; a<n; a++) { }
for(int b=0; b<m; b++) { if (safe(na, nb) && M[na][nb] == -1) {
int c; M[na]l[nb] = M[a][b] + 1; int main(void) {
scanf("%d", &c); input();
if(na==Ga && nb==Gb) { // SHX|0| ==, output("initial state",-1);
if(c==8) Sa=a, Sb=b; /] LR EH output("BFS search success", M[na][nb]); // dfs & bfs StLtQ| 0t &S A
else if(c==9) Ga=a, Gb=b; // FHX| &7 return; // Sadl SbEO|A DFSA|E
} dfs(Sa, Sb, 1);
/) EEX SHX x@ 2E 42 12 BHEH g.push({na, nb}); // sa¥l SbBOA BFSA|ZE
if(c>=1) M[a][b]=-1; } //bfs(Sa, Sb, 1);
else M[a][b]=0; // a¥ b0 A¢ } output("last state",-1);
} } return 9;
} output("BFS search fail", -1); }
} }
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